City Clerk

Bid Committee Bid Tab

Bid MB-1593 Ended At Jan 11, 2023 10:00:00 AM CST CONSTRUCTION/CITY - Public Works River Maintenance Facility Addition

Company:	C4L LLC	TCS Construction	W.L. McNatt & Company
Base Bid	\$485,584.00	\$542,841.98	\$565,224.00
TOTAL BID:	\$485,584.00	\$542,841.98	\$565,224.00

Company:	Hoey Construction	Globe Construction Co.	
Base Bid	\$685,611.00	\$699,713.9843	
TOTAL BID:	\$685,611.00	\$699,713.9843	

Tresha Williams	Daniel Jack	Brett Rangel
City Clerk	Procurement	Auditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee; and
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #MB-1593 - Public Works River Maintenance Facility Addition

Creation Date Nov 15, 2022 End Date Jan 11, 2023 10:00:00 AM CST

Start Date Dec 7, 2022 7:42:48 AM CST Awarded Date Not Yet Awarded

MB-1593-01-01 Base Bid: FURNISH AND II	NSTALL BUILDING ADDITION				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Hoey Construction 🙀	First Offer - \$308,100.00	1 / lump sum	\$308,100.00		Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
C4L LLC	First Offer - \$322,296.00	1 / lump sum	\$322,296.00		Y
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
TCS Construction	First Offer - \$410,000.00	1 / lump sum	\$410,000.00	Υ	Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
W.L. McNatt & Company	First Offer - \$434,000.00	1 / lump sum	\$434,000.00	Υ	Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
Globe Construction Co.	First Offer - \$517,000.00	1 / lump sum	\$517,000.00	Υ	Y
Product Code:	· · · · · · · · · · · · · · · · · · ·	Supplier Product Code	::		
Agency Notes:		Supplier Notes:			

MB-159301-02 Base Bid: AUDIO-VIDEO RE	CORDING PRE-AND POST-C	ONSTRUCTION			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
TCS Construction	First Offer - \$100.00	1 / lump sum	\$100.00		Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
C4L LLC	First Offer - \$150.00	1 / lump sum	\$150.00		Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
W.L. McNatt & Company	First Offer - \$275.00	1 / lump sum	\$275.00		Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
Globe Construction Co.	First Offer - \$920.00	1 / lump sum	\$920.00		Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
Hoey Construction 👔	First Offer - \$1,000.00	1 / lump sum	\$1,000.00		Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			

MB-1593–01-03 Base Bid: FILTER FABRIC FENCE - COMPLETE IN PLACE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TCS Construction	First Offer - \$1.36	200 / linear foot	\$272.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
W.L. McNatt & Company	First Offer - \$2.20	200 / linear foot	\$440.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
C4L LLC	First Offer - \$4.25	200 / linear foot	\$850.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

Globe Construction Co.	First Offer - \$4.80	200 / linear foot	\$960.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Hoey Construction	First Offer - \$5.00	200 / linear foot	\$1,000.00	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

MB-159301-04 Base Bid: EARTHWORK - EXCAVATION/EMBANKMENT/COMPACTION/FINE GRADING							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TCS Construction	First Offer - \$5,435.00	1 / lump sum	\$5,435.00		Υ		
Product Code:		Supplier Product Code	e:				
Agency Notes:		Supplier Notes:					
W.L. McNatt & Company	First Offer - \$12,800.00	1 / lump sum	\$12,800.00		Υ		
Product Code:	Supplier Product Code:						
Agency Notes:		Supplier Notes:					
C4L LLC	First Offer - \$14,750.00	1 / lump sum	\$14,750.00		Y		
Product Code:		Supplier Product Code	2 :				
Agency Notes:		Supplier Notes:					
Hoey Construction 👔	First Offer - \$16,000.00	1 / lump sum	\$16,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Globe Construction Co.	First Offer - \$36,340.00	1 / lump sum	\$36,340.00		Υ		
Product Code:		Supplier Product Code	2:				
Agency Notes:		Supplier Notes:					

MB-159301-05 Base Bid: PORTLAND CEM	ENT CONCRETE PAVEMEN	T (8 INCH) (DOWEL JOINTE	D)		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Hoey Construction 🙀	First Offer - \$75.00	341 / square yard	\$25,575.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Globe Construction Co.	First Offer - \$76.4751	341 / square yard	\$26,078.0091		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
W.L. McNatt & Company	First Offer - \$83.00	341 / square yard	\$28,303.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
TCS Construction	First Offer - \$98.18	341 / square yard	\$33,479.38		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
C4L LLC	First Offer - \$156.00	341 / square yard	\$53,196.00	Y	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

MB-159301-06 Base Bid: CURB AND GUTTER (2 FOOT - 8 INCH) (8 INCH BARRIER)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TCS Construction	First Offer - \$26.09	43 / linear foot	\$1,121.87		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
W.L. McNatt & Company	First Offer - \$28.00	43 / linear foot	\$1,204.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Hoey Construction 🙀	First Offer - \$30.00	43 / linear foot	\$1,290.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

Globe Construction Co.	First Offer - \$34.5116	43 / linear foot	\$1,483.9988		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
C4L LLC	First Offer - \$88.00	43 / linear foot	\$3,784.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

MB-159301-07 Base Bid: TRAFFIC STRIPE (PAINT) (4INCH WIDE) (WHITE)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Hoey Construction 🙀	First Offer - \$3.00	121 / linear foot	\$363.00		Υ		
		Supplier Product Code: Supplier Notes:					
W.L. McNatt & Company	First Offer - \$3.00	121 / linear foot	\$363.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
TCS Construction	First Offer - \$7.61	121 / linear foot	\$920.81		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
C4L LLC	First Offer - \$8.00	121 / linear foot	\$968.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Globe Construction Co.	First Offer - \$9.1983	121 / linear foot	\$1,112.9943		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					

MB-159301-08 Base Bid: CONSTRUCTION STAKING (CONSTRUCTION SURVEY)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
C4L LLC	First Offer - \$350.00	1 / lump sum	\$350.00		Υ		
		Supplier Product Code Supplier Notes:	2:				
TCS Construction	First Offer - \$2,718.00	1 / lump sum	\$2,718.00		Y		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:				
W.L. McNatt & Company	First Offer - \$2,800.00	1 / lump sum	\$2,800.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Globe Construction Co.	First Offer - \$5,016.00	1 / lump sum	\$5,016.00		Y		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:				
Hoey Construction	First Offer - \$10,000.00	1 / lump sum	\$10,000.00		Υ		
		Supplier Product Code Supplier Notes:	e:				

MB-159301-09 Base Bid: GPS AS-BUILT SURVEY										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
TCS Construction	First Offer - \$1,631.00	1 / lump sum	\$1,631.00		Y					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:									
W.L. McNatt & Company	First Offer - \$1,650.00	1 / lump sum	\$1,650.00		Υ					
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:							
C4L LLC	First Offer - \$1,750.00	1 / lump sum	\$1,750.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

Globe Construction Co.		First Offer - \$4,025.00	1 / lump sum	\$4,025.00		Υ
Product Code:			Supplier Product Code	e:		
Agency Notes:			Supplier Notes:			
Hoey Construction 🙀		First Offer - \$10,000.00	1 / lump sum	\$10,000.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			

MB-159301-10 Base Bid: MOBILIZATION									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
W.L. McNatt & Company	First Offer - \$2,200.00	1 / lump sum	\$2,200.00		Υ				
Product Code:		Supplier Product Code	: :						
Agency Notes:		Supplier Notes:							
C4L LLC	First Offer - \$4,500.00	1 / lump sum	\$4,500.00		Υ				
Product Code:		Supplier Product Code	: :						
Agency Notes:		Supplier Notes:							
TCS Construction	First Offer - \$5,435.00	1 / lump sum	\$5,435.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Globe Construction Co.	First Offer - \$9,900.00	1 / lump sum	\$9,900.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Hoey Construction 👔	First Offer - \$203,700.00	1 / lump sum	\$203,700.00		Y				
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:						

MB-159301-11 Base Bid: CLEARING AND GRUBBING									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
C4L LLC	First Offer - \$500.00	1 / lump sum	\$500.00		Υ				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
Globe Construction Co.	First Offer - \$770.00	1 / lump sum	\$770.00		Υ				
Product Code: Supplier Product Code:									
Agency Notes:		Supplier Notes:							
TCS Construction	First Offer - \$1,631.00	1 / lump sum	\$1,631.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
W.L. McNatt & Company	First Offer - \$3,300.00	1 / lump sum	\$3,300.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Hoey Construction 👔	First Offer - \$4,000.00	1 / lump sum	\$4,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

MB-159301-12 Base Bid: REMOVE PAVEMENT (CONCRETE)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
TCS Construction	First Offer - \$3.26	474 / square yard	\$1,545.24		Υ					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:									
W.L. McNatt & Company	First Offer - \$10.00	474 / square yard	\$4,740.00		Υ					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
Globe Construction Co.	First Offer - \$11.6582	474 / square yard	\$5,525.9868		Υ					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								

C4L LLC	First Offer - \$23.00	474 / square yard	\$10,902.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Hoey Construction	First Offer - \$25.00	474 / square yard	\$11,850.00	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

MB-159301-13 Base Bid: REMOVE SIDEWALK									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TCS Construction	First Offer - \$3.26	75 / square yard	\$244.50		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
W.L. McNatt & Company	First Offer - \$9.00	75 / square yard	\$675.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Globe Construction Co.	First Offer - \$14.9333	75 / square yard	\$1,119.9975		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
C4L LLC	First Offer - \$23.00	75 / square yard	\$1,725.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Hoey Construction 🙀	First Offer - \$25.00	75 / square yard	\$1,875.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							

MB-1593-01-14 Base Bid: REMOVE CURB AN	/IB-159301-14 Base Bid: REMOVE CURB AND GUTTER									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
C4L LLC	First Offer - \$2.00	97 / linear foot	\$194.00		Y					
		Supplier Product Code: Supplier Notes:								
TCS Construction	First Offer - \$5.44	97 / linear foot	\$527.68		Υ					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
Globe Construction Co.	First Offer - \$5.7938	97 / linear foot	\$561.9986		Υ					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
W.L. McNatt & Company	First Offer - \$11.00	97 / linear foot	\$1,067.00		Υ					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
Hoey Construction 👔	First Offer - \$25.00	97 / linear foot	\$2,425.00		Y					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								

MB-159301-15 Base Bid: SAWCUT PAVEMENT (CONCRETE)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Hoey Construction 👔	First Offer - \$1.00	138 / linear foot	\$138.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
W.L. McNatt & Company	First Offer - \$6.00	138 / linear foot	\$828.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
C4L LLC	First Offer - \$9.00	138 / linear foot	\$1,242.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

Globe Construction Co.	First Offer - \$9.4058	138 / linear foot	\$1,298.0004		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
TCS Construction	First Offer - \$9.78	138 / linear foot	\$1,349.64		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

MB-159301-16 Base Bid: SIDEWALK (6FT)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Hoey Construction 👔	First Offer - \$55.00	106 / square yard	\$5,830.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
TCS Construction	First Offer - \$63.58	106 / square yard	\$6,739.48		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
W.L. McNatt & Company	First Offer - \$67.00	106 / square yard	\$7,102.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Globe Construction Co.	First Offer - \$78.3962	106 / square yard	\$8,309.9972		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
C4L LLC	First Offer - \$117.00	106 / square yard	\$12,402.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							

MB-159301-17 Base Bid: ADA CURB RAM	P				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Hoey Construction 👔	First Offer - \$55.00	9 / square yard	\$495.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
TCS Construction	First Offer - \$107.61	9 / square yard	\$968.49		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
W.L. McNatt & Company	First Offer - \$110.00	9 / square yard	\$990.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
C4L LLC	First Offer - \$124.00	9 / square yard	\$1,116.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Globe Construction Co.	First Offer - \$283.2222	9 / square yard	\$2,548.9998		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

Unit Price First Offer - \$39.00	Qty/Unit	Total Price	Addala	_
First Offer - \$39.00			Attch.	Docs
11130 01101 \$33.00	2 / square foot	\$78.00		Y
	• •			
First Offer - \$45.00	2 / square foot	\$90.00		Y
	••			
First Offer - \$108.70	2 / square foot	\$217.40		Y
	First Offer - \$45.00 First Offer - \$108.70	Supplier Product Code: Supplier Notes: First Offer - \$45.00 2 / square foot Supplier Product Code: Supplier Notes:	Supplier Product Code: Supplier Notes: First Offer - \$45.00	Supplier Product Code: Supplier Notes: First Offer - \$45.00 2 / square foot \$90.00 Supplier Product Code: Supplier Notes: First Offer - \$108.70 2 / square foot \$217.40 Supplier Product Code:

Hoey Construction	First Offer - \$250.00	2 / square foot	\$500.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Globe Construction Co.	First Offer - \$360.00		\$720.00	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

MB-1593-01-19 Base Bid: SOLID SLAB SOD	DING				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
TCS Construction	First Offer - \$3.52	500 / square yard	\$1,760.00		Υ
		Supplier Product Code: Supplier Notes:			
W.L. McNatt & Company	First Offer - \$5.00	500 / square yard	\$2,500.00		Y
		Supplier Product Code: Supplier Notes:			
C4L LLC	First Offer - \$6.00	500 / square yard	\$3,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Globe Construction Co.	First Offer - \$9.362	500 / square yard	\$4,681.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Hoey Construction 🙀	First Offer - \$10.00	500 / square yard	\$5,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

MB-159301-20 Base Bid: (4 INCH) (PVC) WATERLINE PIPE (PUSH-ON JOINT) (DR-14) W/ 12 GAUGE TRACER WIRE							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Hoey Construction 🙀	First Offer - \$90.00	85 / linear foot	\$7,650.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
W.L. McNatt & Company	First Offer - \$121.00	85 / linear foot	\$10,285.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
C4L LLC	First Offer - \$143.00	85 / linear foot	\$12,155.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
TCS Construction	First Offer - \$144.79	85 / linear foot	\$12,307.15		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Globe Construction Co.	First Offer - \$154.5294	85 / linear foot	\$13,134.999		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

MB-159301-21 Base Bid: (6 INCH) (PVC) WATERLINE PIPE (PUSH-ON JOINT) (DR-14) W/ 12 GUAGE TRACER WIRE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Hoey Construction 🙀	First Offer - \$100.00	80 / linear foot	\$8,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
W.L. McNatt & Company	First Offer - \$132.00	80 / linear foot	\$10,560.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
C4L LLC	First Offer - \$158.00	80 / linear foot	\$12,640.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TCS Construction	First Offer - \$161.72	80 / linear foot	\$12,937.60		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Globe Construction Co.	First Offer - \$174.075	80 / linear foot	\$13,926.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

MB-1593-01-22 Base Bid: FITTINGS (6 INCH	x 45 DEGREE BEND (COMF	PACT) (MJ))				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
W.L. McNatt & Company	First Offer - \$275.00	4 / each	\$1,100.00		Υ	
		Supplier Product Code Supplier Notes:	:			
TCS Construction	First Offer - \$611.17	4 / each	\$2,444.68		Y	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	: :			
C4L LLC	First Offer - \$656.00	4 / each	\$2,624.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Globe Construction Co.	First Offer - \$674.75	4 / each	\$2,699.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Hoey Construction 🙀	First Offer - \$950.00	4 / each	\$3,800.00		Y	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:			

MB-159301-23 Base Bid: FITTINGS (4 INCH	x 45 DEGREE BEND (COMF	PACT) (MJ))			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
W.L. McNatt & Company	First Offer - \$275.00	4 / each	\$1,100.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2 :		
TCS Construction	First Offer - \$470.13	4 / each	\$1,880.52		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:		
Globe Construction Co.	First Offer - \$519.00	4 / each	\$2,076.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
C4L LLC	First Offer - \$532.00	4 / each	\$2,128.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Hoey Construction 👔	First Offer - \$850.00	4 / each	\$3,400.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		

MB-159301-24 Base Bid: RESTRAINED JOINT (MEGA-LUG SERIES 2004 PV)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TCS Construction	First Offer - \$75.18	12 / each	\$902.16		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Globe Construction Co.	First Offer - \$86.50	12 / each	\$1,038.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
W.L. McNatt & Company	First Offer - \$88.00	12 / each	\$1,056.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
					I			

C4L LLC	First Offer - \$221.00	12 / each	\$2,652.00	Υ
Product Code:		Supplier Product Code	e:	
Agency Notes:		Supplier Notes:		
Hoey Construction 🙀	First Offer - \$250.00	12 / each	\$3,000.00	Y
Product Code:		Supplier Product Code	e:	
Agency Notes:		Supplier Notes:		

MB-159301-25 Base Bid: RESTRAINED JOIN	NT (MEGA-LUG SERIES 2006 F	PV)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
TCS Construction	First Offer - \$94.03	12 / each	\$1,128.36		Υ
		Supplier Product Code Supplier Notes:	e:		
Globe Construction Co.	First Offer - \$108.1667	12 / each	\$1,298.0004		Υ
		Supplier Product Code: Supplier Notes:			
W.L. McNatt & Company	First Offer - \$110.00	12 / each	\$1,320.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
C4L LLC	First Offer - \$248.00	12 / each	\$2,976.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Hoey Construction 👔	First Offer - \$350.00	12 / each	\$4,200.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		

MB-1593-01-26 Base Bid: HYDROSTATIC PF	MB-159301-26 Base Bid: HYDROSTATIC PRESSURE TESTING AND DISINFECTION								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Hoey Construction 👔	First Offer - \$1,500.00	1 / lump sum	\$1,500.00		Υ				
		Supplier Product Code Supplier Notes:	:						
W.L. McNatt & Company	First Offer - \$1,700.00	1 / lump sum	\$1,700.00		Y				
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	:							
C4L LLC	First Offer - \$1,860.00	1 / lump sum	\$1,860.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
TCS Construction	First Offer - \$1,881.00	1 / lump sum	\$1,881.00		Υ				
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:						
Globe Construction Co.	First Offer - \$1,990.00	1 / lump sum	\$1,990.00		Υ				
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	:							

MB-1593-01-27 Base Bid: STRUCTURE REMOVAL (WATER LINE) (4IN)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
C4L LLC	First Offer - \$25.00	52 / linear foot	\$1,300.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
TCS Construction	First Offer - \$28.19	52 / linear foot	\$1,465.88		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Globe Construction Co.	First Offer - \$29.8462	52 / linear foot	\$1,552.0024		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
	I	I	1						

W.L. McNatt & Company		First Offer - \$39.00	52 / linear foot	\$2,028.00	Y
Product Code:		Supplier Product Code:			
Agency Notes:			Supplier Notes:		
Hoey Construction		First Offer - \$60.00	52 / linear foot	\$3,120.00	Y
Product Code:			Supplier Product Code:		
Agency Notes:			Supplier Notes:		

MB-159301-28 Base Bid: STRUCTURE REMO	VAL (WATER LINE) (6IN)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
TCS Construction	First Offer - \$28.21	40 / linear foot	\$1,128.40		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Globe Construction Co.	First Offer - \$31.15	40 / linear foot	\$1,246.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
C4L LLC	First Offer - \$32.00	40 / linear foot	\$1,280.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
W.L. McNatt & Company	First Offer - \$39.00	40 / linear foot	\$1,560.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Hoey Construction 🙀	First Offer - \$65.00	40 / linear foot	\$2,600.00		Y	
		Supplier Product Code: Supplier Notes:				

MB-159301-29 Base Bid: Tapping Sleeve (6	inch)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
C4L LLC	First Offer - \$1,240.00	2 / each	\$2,480.00		Υ	
		Supplier Product Code Supplier Notes:	e:			
TCS Construction	First Offer - \$1,504.41	2 / each	\$3,008.82		Y	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:			
Globe Construction Co.	First Offer - \$1,591.50	2 / each	\$3,183.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
W.L. McNatt & Company	First Offer - \$1,700.00	2 / each	\$3,400.00		Y	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:			
Hoey Construction 👔	First Offer - \$5,500.00	2 / each	\$11,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:			

MB-1593–01-30 Base Bid: Tapping Sleeve (4 inch)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
C4L LLC	First Offer - \$992.00	2 / each	\$1,984.00		Y				
Product Code:	Supplier Product Cod	e:							
Agency Notes:		Supplier Notes:							
TCS Construction	First Offer - \$1,410.38	2 / each	\$2,820.76		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
Globe Construction Co.	First Offer - \$1,511.50	2 / each	\$3,023.00		Y				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
agency moster	T	рафриен насельн	1 1	1					

W.L. McNatt & Company		First Offer - \$1,700.00	2 / each	\$3,400.00		Υ
Product Code:		Supplier Product Code:				
Agency Notes:			Supplier Notes:			
Hoey Construction 🙀		First Offer - \$5,000.00	2 / each	\$10,000.00		Υ
Product Code:		Supplier Product Code:				
Agency Notes:			Supplier Notes:			

MB-159301-31 Base Bid: (6 inch) (Tapping)	MB-159301-31 Base Bid: (6 inch) (Tapping) Valve and Box									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
C4L LLC	First Offer - \$1,240.00	2 / each	\$2,480.00		Υ					
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:							
Hoey Construction 👔	First Offer - \$2,000.00	2 / each	\$4,000.00		Υ					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
W.L. McNatt & Company	First Offer - \$2,800.00	2 / each	\$5,600.00		Υ					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
TCS Construction	First Offer - \$2,867.51	2 / each	\$5,735.02		Υ					
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:							
Globe Construction Co.	First Offer - \$3,034.00	2 / each	\$6,068.00		Υ					
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:							

MB-159301-32 Base Bid: (4 Inch) (Tapping)	Valve and Box				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
C4L LLC	First Offer - \$992.00	2 / each	\$1,984.00		Υ
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			
Hoey Construction	First Offer - \$1,800.00	2 / each	\$3,600.00		Y
Product Code: Supplier Product Code:					
Agency Notes:		Supplier Notes:			
TCS Construction	First Offer - \$2,547.93	2 / each	\$5,095.86		Υ
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			
Globe Construction Co.	First Offer - \$2,672.50	2 / each	\$5,345.00		Y
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			
W.L. McNatt & Company	First Offer - \$2,800.00	2 / each	\$5,600.00		Y
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			

MB-159301-33 Base Bid: (6 Inch) Tap						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
C4L LLC	First Offer - \$315.00	2 / each	\$630.00		Υ	
		Supplier Product Code: Supplier Notes:				
Hoey Construction 👔	First Offer - \$2,000.00	2 / each	\$4,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:			
W.L. McNatt & Company	First Offer - \$2,200.00	2 / each	\$4,400.00		Υ	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:			

Agency Notes:		Supplier Notes:				
Product Code:		Supplier Product Code:				
Globe Construction Co.	First Offer - \$3,367.50	2 / each	\$6,735.00		Υ	
Agency Notes:	Supplier Notes:					
Product Code:		Supplier Product Code:				
TCS Construction	First Offer - \$3,196.87	2 / each	\$6,393.74		Y	

MB-159301-34 Base Bid: (4 Inch) Tap	ИВ-159301-34 Base Bid: (4 Inch) Тар							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
C4L LLC	First Offer - \$315.00	2 / each	\$630.00		Υ			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:					
Hoey Construction	First Offer - \$1,800.00	2 / each	\$3,600.00		Υ			
Product Code:		Supplier Product Code: Supplier Notes:						
W.L. McNatt & Company	First Offer - \$2,200.00	2 / each	\$4,400.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
TCS Construction	First Offer - \$3,196.87	2 / each	\$6,393.74		Υ			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:					
Globe Construction Co.	First Offer - \$3,367.50	2 / each	\$6,735.00		Υ			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:					

MB-159301-35 Base Bid: Fittings (6 Inch Plug (Compact) (MJ))									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TCS Construction	First Offer - \$328.82	2 / each	\$657.64		Υ				
Product Code:		Supplier Product Code	2:						
Agency Notes:		Supplier Notes:							
Globe Construction Co.	First Offer - \$348.00	2 / each	\$696.00		Υ				
Product Code:		Supplier Product Code	2:						
Agency Notes:		Supplier Notes:							
W.L. McNatt & Company	First Offer - \$600.00	2 / each	\$1,200.00		Υ				
Product Code:		Supplier Product Code	2:						
Agency Notes:		Supplier Notes:							
C4L LLC	First Offer - \$630.00	2 / each	\$1,260.00		Υ				
Product Code:		Supplier Product Code	2:						
Agency Notes:		Supplier Notes:							
Hoey Construction 🙀	First Offer - \$750.00	2 / each	\$1,500.00		Y				
Product Code:		Supplier Product Code	2:						
Agency Notes:		Supplier Notes:							

MB-159301-36 Base Bid: Fittings (4 Inch Plug (Compact) (MJ))									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TCS Construction	First Offer - \$282.08	2 / each	\$564.16		Y				
		Supplier Product Code: Supplier Notes:							
Globe Construction Co.	First Offer - \$298.50	2 / each	\$597.00		Υ				
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	e:							
C4L LLC	First Offer - \$378.00	2 / each	\$756.00		Υ				
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:						
					1				

W.L. McNatt & Company	First Offer - \$600.00	2 / each	\$1,200.00	Υ
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		
Hoey Construction 👔	First Offer - \$750.00	2 / each	\$1,500.00	Y
Product Code:		Supplier Product Code	: :	
Agency Notes:		Supplier Notes:		

Supplier Totals	3		
f C4L LLC		\$485,584.00 (36/36 items)	
Bid Contact	Kirk Smith kirk@c4lokc.com Ph 405-314-0802	Address P.O. Box 228 EDMOND, OK 73003	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:		Supplier Notes: H မြ	ead Attch:
f TCS Constru	ction	\$542,841.98 (36/36 items)	
Bid Contact	Christian Scorsone christian@tcs-ok.com Ph 405-217-4020 Fax 405-701-8520	Address 2900 Adams Rd. STE 120 Norman, OK 73069	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:		• •	Head Attch:
f W.L. McNatt	: & Company	\$565,224.00 (36/36 items)	
Bid Contact	Jason Masterson jason@wlmcnatt.com Ph 405-232-7245 Fax 405-232-7259	Address 2000 E. Britton Road Oklahoma City, OK 73131	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:		Supplier Notes:	Head Attch
f Hoey Constr	uction	\$685,611.00 (36/36 items)
Bid Contact	Michael Hoey estimating@hoeyconstruction.com Ph 918-665-2624	Address 3310 Southwest Boulevard Tulsa, OK 74107	
	OKC PRE-QUALIFIED CONTRACTORS		
Bid Bond	(Status: Authorized on Jan 11, 2023)		
Agency Notes:		Supplier Notes:	Head Attch:
f Globe Const	ruction Co.	\$699,713.9843 (36/36 items)	
Bid Contact	Peter Morrical kmurry@globebuilds.com Ph 405-478-3502	Address PO Box 17420 Oklahoma City, OK 73136	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:		Supplier Notes:	Head Attch

bid #MB-1593 - Public Works River Maintenance

**All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

City Clerk

Bid Committee Bid Tab

Bid PC-0911, PC-0912 and PC-0913R Ended At Jan 11, 2023 10:00:00 AM CST CONSTRUCTION/CITY - Street Resurfacing / Repair

Company:	Rudy Construction Co.	Ellsworth Construction OKC dba Atech Paving	Atlas Paving Company
BASE BID PC-0911	\$1,068,002.50	\$1,100,499.50	\$1,318,071.50
BASE BID PC-0912	\$1,758,868.90	\$1,746,897.45	\$1,721,689.11
BASE BID PC-0913	\$990,367.50	\$973,331.25	\$993,825.00
Alternate No. 1 PC-0911 PC-0912 PC-0913	\$364,756.25	\$417,281.15	\$320,985.50
Alternate No. 2 PC-0911 PC-0912 PC-0913	\$138,600.00	\$134,370.00	\$117,000.00
TOTAL BID:	\$4,320,595.15	\$4,372,379.35	\$4,471,571.11

Company:	SCHWARZ PAVING CO., INC.	Haskell Lemon Group, LLC	T.J. Campbell Construction Co.
BASE BID PC-0911	\$1,171,751.00	\$1,223,128.00	\$1,412,737.00
BASE BID PC-0912	\$1,829,388.70	\$1,883,613.55	\$2,229,056.60
BASE BID PC-0913	\$1,050,840.00	\$1,099,385.40	\$1,192,433.00
Alternate No. 1 PC-0911 PC-0912 PC-0913	\$350,166.00	\$358,920.15	\$423,117.25
Alternate No. 2 PC-0911 PC-0912 PC-0913	\$111,600.00	\$117,000.00	\$198,000.00
TOTAL BID:	\$4,513,745.70	\$4,682,047.10	\$5,455,343.85

Tresha Williams	Daniel Jack	Brett Rangel
City Clerk	Procurement	Auditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee;
 and
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #PC-0911, PC-0912 and PC-0913R - Street Resurfacing / Repair

Start Date Nov 23, 2022 7:38:29 AM CST Awarded Date Not Yet Awarded

PC-0911, PC-0912 and PC-0913R01-01 BASE BID PC-09	11: 220-02 PR	OOF RO	LLING			
Supplier	Un	it Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company	First Offer	- \$0.01	15150 / square yard	\$151.50		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer	- \$0.10	15150 / square yard	\$1,515.00	Υ	Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Bid Bond	Attached to this ite	m	
Rudy Construction Co.	First Offer	- \$0.15	15150 / square yard	\$2,272.50	Υ	Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer	- \$0.20	15150 / square yard	\$3,030.00	Υ	Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Bid bond attached			
Haskell Lemon Group, LLC	First Offer	- \$0.30	15150 / square yard	\$4,545.00	Y	Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer	- \$0.50	15150 / square yard	\$7,575.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			

PC-0911, PC-0912 and PC-0913R01-02 BASE BID PC-0911: 301-39 SUPERPAVE TYPE S5 (PG 70-28 OK)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$128.25	1910 / ton	\$244,957.50		Y			
Product Code:		Supplier Product C	ode:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$143.00	1910 / ton	\$273,130.00		Υ			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Rudy Construction Co.	First Offer - \$145.00	1910 / ton	\$276,950.00		Y			
Product Code:		Supplier Product C	ode:					
Agency Notes:		Supplier Notes:						
Haskell Lemon Group, LLC	First Offer - \$150.00	1910 / ton	\$286,500.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$163.00	1910 / ton	\$311,330.00		Y			
Product Code:		Supplier Product C	ode:					
Agency Notes:		Supplier Notes:						

Atlas Paving Company	First Offer - \$165.00	1910 / ton	\$315,150.00	Υ
Product Code:		Supplier Product C	Code:	
Agency Notes:		Supplier Notes:		

PC-0911, PC-0912 and PC-0913R01-03 BASE BID PC	C-0911:	301-39 SUPERPAVE TYF	PE S6 (PG 70-28 OK)	crack filling		
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.		First Offer - \$200.00	10 / ton	\$2,000.00		Y
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$335.00	10 / ton	\$3,350.00		Y
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			
Atlas Paving Company		First Offer - \$500.00	10 / ton	\$5,000.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Haskell Lemon Group, LLC		First Offer - \$500.00	10 / ton	\$5,000.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving		First Offer - \$600.00	10 / ton	\$6,000.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
SCHWARZ PAVING CO., INC.		First Offer - \$650.00	10 / ton	\$6,500.00		Y
Product Code:			Supplier Product C	ode:		
Agency Notes:			Supplier Notes:			

PC-0911, PC-0912 and PC-0913R01-04 BASE BID PC-0911: 304-04 P C CONC PVMT (6 INCH) (4000 HES)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Haskell Lemon Group, LLC	First Offer - \$74.00	50 / square yard	\$3,700.00		Υ		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					
Atlas Paving Company	First Offer - \$100.00	50 / square yard	\$5,000.00		Y		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					
Rudy Construction Co.	First Offer - \$100.00	50 / square yard	\$5,000.00		Υ		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					
Ellsworth Construction OKC dba Atech Paving	First Offer - \$125.00	50 / square yard	\$6,250.00		Υ		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$150.00	50 / square yard	\$7,500.00		Υ		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$200.00	50 / square yard	\$10,000.00		Y		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					

PC-0911, PC-0912 and PC-0913R01-05 BASE BID PC-0911: 304-06 P. C. CONC. PAVEMENT (8 INCHES) (4000 PSI HES) (REINF. CONC. VALLEY GUTTE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Haskell Lemon Group, LLC	First Offer - \$101.00	120 / square yard	\$12,120.00		Υ			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
Ellsworth Construction OKC dba Atech Paving	First Offer - \$120.00	120 / square yard	\$14,400.00		Y			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						

Atlas Paving Company	First Offer - \$140.00	120 / square yard	\$16,800.00	Υ
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC.	First Offer - \$140.00	120 / square yard	\$16,800.00	Y
Product Code:		Supplier Product Code	2:	
Agency Notes:		Supplier Notes:		
Rudy Construction Co.	First Offer - \$150.00	120 / square yard	\$18,000.00	Y
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		
T.J. Campbell Construction Co.	First Offer - \$186.00	120 / square yard	\$22,320.00	Y
Product Code:		Supplier Product Code	2:	
Agency Notes:		Supplier Notes:		

PC-0911, PC-0912 and PC-0913R01-06 BASE BID PC-0911: 304-07 P. C. CONC. PAVEMENT (8 INCHES) (DOWELL JOINTED) (4000 PSI HES)							
Supplier	U	nit Price	Qty/Unit	Total Price	Attch.	Docs	
Rudy Construction Co.	First Offer	- \$90.00	3400 / square yard	\$306,000.00		Υ	
		Supplier Product Code: Supplier Notes:					
Ellsworth Construction OKC dba Atech Paving	First Offer	- \$95.45	3400 / square yard	\$324,530.00		Υ	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer -	\$100.00	3400 / square yard	\$340,000.00		Υ	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Haskell Lemon Group, LLC	First Offer -	\$103.50	3400 / square yard	\$351,900.00		Υ	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Atlas Paving Company	First Offer -	\$115.00	3400 / square yard	\$391,000.00		Υ	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer -	\$146.00	3400 / square yard	\$496,400.00		Υ	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:		·		

PC-0911, PC-0912 and PC-0913R01-07 BASE BID PC-0911: 305-00 CURB AND GUTTER (ALL TYPES)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Haskell Lemon Group, LLC	First Offer - \$30.00	300 / linear foot	\$9,000.00		Υ				
		Supplier Product Cod Supplier Notes:	e:						
Rudy Construction Co.	First Offer - \$35.00	300 / linear foot	\$10,500.00		Υ				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Ellsworth Construction OKC dba Atech Paving	First Offer - \$40.00	300 / linear foot	\$12,000.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$45.00	300 / linear foot	\$13,500.00		Υ				
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:						
T.J. Campbell Construction Co.	First Offer - \$50.00	300 / linear foot	\$15,000.00		Υ				
Product Code:		Supplier Product Cod Supplier Notes:	e:						
Atlas Paving Company	First Offer - \$50.00	300 / linear foot	\$15,000.00		Υ				
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:						

PC-0911, PC-0912 and PC-0913R01-08 BASE BID PC-0911: 309-12 COLD MILLING PAVEMENT (ASPH. UP TO 4 INCHES)(FINE MILL)							
Supplier	Uni	t Price	Qty/Unit	Total Price	Attch.	Docs	
Rudy Construction Co.	First Offer -	\$2.50	15150 / square yard	\$37,875.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer -	\$3.75	15150 / square yard	\$56,812.50		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
T.J. Campbell Construction Co.	First Offer -	\$4.15	15150 / square yard	\$62,872.50		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer -	\$5.00	15150 / square yard	\$75,750.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Haskell Lemon Group, LLC	First Offer -	\$5.25	15150 / square yard	\$79,537.50		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Atlas Paving Company	First Offer -	\$9.00	15150 / square yard	\$136,350.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				

PC-0911, PC-0912 and PC-0913R01-09 BASE BID PC-0911: 310-05 CLEANING AND SEALING P.C. CONCRETE JOINTS									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Haskell Lemon Group, LLC	First Offer - \$3.30	1000 / linear foot	\$3,300.00		Υ				
		Supplier Product Code Supplier Notes:	:						
Ellsworth Construction OKC dba Atech Paving	First Offer - \$3.50	1000 / linear foot	\$3,500.00		Υ				
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:						
Atlas Paving Company	First Offer - \$4.00	1000 / linear foot	\$4,000.00		Υ				
		Supplier Product Code: Supplier Notes:							
Rudy Construction Co.	First Offer - \$4.00	1000 / linear foot	\$4,000.00		Υ				
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:						
T.J. Campbell Construction Co.	First Offer - \$4.10	1000 / linear foot	\$4,100.00		Υ				
		Supplier Product Code Supplier Notes:	:						
SCHWARZ PAVING CO., INC.	First Offer - \$7.00	1000 / linear foot	\$7,000.00		Υ				
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:						

PC-0911, PC-0912 and PC-0913R01-10 BASE BID PC-0911: 310-06 CLEANING AND SEALING P.C. CONCRETE CRACKS									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Haskell Lemon Group, LLC	First Offer - \$3.30	1000 / linear foot	\$3,300.00		Υ				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba Atech Paving	First Offer - \$3.75	1000 / linear foot	\$3,750.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Atlas Paving Company	First Offer - \$4.00	1000 / linear foot	\$4,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$4.00	1000 / linear foot	\$4,000.00		Υ				
Product Code:		Supplier Product Code	:						

Agency Notes:		Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$4.10	1000 / linear foot	\$4,100.00	Y		
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$7.00	1000 / linear foot	\$7,000.00	Υ		
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

PC-0911, PC-0912 and PC-0913R01-11 BASE BID PC-0911: 313-01 TACK COAT (ULTRA TACK)									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SCHWARZ PAVING CO., INC.		First Offer - \$5.00	1515 / gallon	\$7,575.00		Υ			
Product Code:			Supplier Product C	Code:					
Agency Notes:			Supplier Notes:						
Haskell Lemon Group, LLC		First Offer - \$5.50	1515 / gallon	\$8,332.50		Υ			
Product Code:			Supplier Product C	Code:					
Agency Notes:			Supplier Notes:						
T.J. Campbell Construction Co.		First Offer - \$6.50	1515 / gallon	\$9,847.50		Y			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Ellsworth Construction OKC dba Atech Paving		First Offer - \$6.50	1515 / gallon	\$9,847.50		Y			
Product Code:			Supplier Product C	Code:					
Agency Notes:			Supplier Notes:						
Rudy Construction Co.		First Offer - \$9.00	1515 / gallon	\$13,635.00		Y			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Atlas Paving Company		First Offer - \$10.00	1515 / gallon	\$15,150.00		Υ			
Product Code:			Supplier Product C	Code:					
Agency Notes:			Supplier Notes:						

PC-0911, PC-0912 and PC-0913R01-12 BASE BID PC-0911: 454-34 DESIGN 2-0 INLET COMPLETE IN PLACE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Haskell Lemon Group, LLC	First Offer - \$3,850.00	1 / each	\$3,850.00		Υ			
Product Code: S		Supplier Product C	Code:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$4,200.00	1 / each	\$4,200.00		Υ			
Product Code:		Supplier Product C	ode:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$5,000.00	1 / each	\$5,000.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Rudy Construction Co.	First Offer - \$6,050.00	1 / each	\$6,050.00		Υ			
Product Code:		Supplier Product C	ode:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$7,500.00	1 / each	\$7,500.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Ellsworth Construction OKC dba Atech Paving	First Offer - \$9,000.00	1 / each	\$9,000.00		Y			
Product Code:		Supplier Product C	Code:					
Agency Notes:		Supplier Notes:						

PC-0911, PC-0912 and PC-0913R01-13 BASE BID PC-0911: 459-01 ADJUST MANHOLE TO GRADE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$700.00	5 / each	\$3,500.00		Υ			
Product Code:		Supplier Product (Code:					
Agency Notes:		Supplier Notes:						

Haskell Lemon Group, LLC	First Offer - \$775.00	5 / each	\$3,875.00	Y	
Product Code:	Supplier Product C	Code:			
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$800.00	5 / each	\$4,000.00	Υ	
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$1,200.00	5 / each	\$6,000.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Atlas Paving Company	First Offer - \$1,400.00	5 / each	\$7,000.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$1,500.00	5 / each	\$7,500.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

PC-0911, PC-0912 and PC-0913R01-14 BASE BID PC-09	911: 46	50-00 PROVIDE AND SI	ET NEW MANHOLE	RING AND COVER		
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Haskell Lemon Group, LLC		First Offer - \$715.00	5 / each	\$3,575.00		Υ
			Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba Atech Paving		First Offer - \$850.00	5 / each	\$4,250.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co.		First Offer - \$875.00	5 / each	\$4,375.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Atlas Paving Company	F	First Offer - \$1,400.00	5 / each	\$7,000.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.	F	First Offer - \$1,900.00	5 / each	\$9,500.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.	F	First Offer - \$1,900.00	5 / each	\$9,500.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:	·	

PC-0911, PC-0912 and PC-0913R01-15 BASE BID PC	-0911:	520-03 VALVE BOX ADJ	UST TO GRADE				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Haskell Lemon Group, LLC		First Offer - \$330.00	4 / each	\$1,320.00		Υ	
Product Code:			Supplier Product C	ode:			
Agency Notes:			Supplier Notes:				
Rudy Construction Co.		First Offer - \$350.00	4 / each	\$1,400.00		Υ	
Product Code:			Supplier Product C	ode:			
Agency Notes:			Supplier Notes:				
Atlas Paving Company		First Offer - \$500.00	4 / each	\$2,000.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving		First Offer - \$600.00	4 / each	\$2,400.00		Y	
Product Code:			Supplier Product C	ode:			
Agency Notes:			Supplier Notes:				
T.J. Campbell Construction Co.		First Offer - \$615.00	4 / each	\$2,460.00		Υ	
Product Code:			Supplier Product C	ode:			
Agency Notes:			Supplier Notes:				
SCHWARZ PAVING CO., INC.		First Offer - \$800.00	4 / each	\$3,200.00		Υ	

Product Code:
Agency Notes:

Supplier Product Code:
Supplier Notes:

PC-0911, PC-0912 and PC-0913R01-16 BASE BID PC-091	1: 713-00 3 INCH GALVA	NIZED STEEL CONDU	T (INSTALLED		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company	First Offer - \$75.00	100 / linear foot	\$7,500.00		Υ
Product Code: Agency Notes:	Supplier Product Coo Supplier Notes:	le:			
SCHWARZ PAVING CO., INC.	First Offer - \$86.00	100 / linear foot	\$8,600.00		Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	le:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$91.00	100 / linear foot	\$9,100.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$106.50	100 / linear foot	\$10,650.00		Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	le:		
Rudy Construction Co.	First Offer - \$107.00	100 / linear foot	\$10,700.00		Υ
Product Code: Agency Notes:	Supplier Product Coo Supplier Notes:	le:			
T.J. Campbell Construction Co.	First Offer - \$117.00	100 / linear foot	\$11,700.00		Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	le:		

PC-0911, PC-0912 and PC-0913R-01-17 BASE BID PC-0911: 713-08 2 INCH TRAFFIC SIGNAL CONDUIT (TRENCHED)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company	First Offer - \$25.00	100 / linear foot	\$2,500.00		Υ			
Product Code:	Supplier Product Cod	le:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$29.00	100 / linear foot	\$2,900.00		Y			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
Haskell Lemon Group, LLC	First Offer - \$30.00	100 / linear foot	\$3,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Rudy Construction Co.	First Offer - \$30.00	100 / linear foot	\$3,000.00		Y			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
Ellsworth Construction OKC dba Atech Paving	First Offer - \$30.75	100 / linear foot	\$3,075.00		Y			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$32.00	100 / linear foot	\$3,200.00		Y			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						

PC-0911, PC-0912 and PC-0913R01-18 BASE BID PC-0911: 713-09 2 INCH TRAFFIC SIGNAL CONDUIT (BORED)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Haskell Lemon Group, LLC	First Offer - \$33.00	100 / linear foot	\$3,300.00		Y					
Product Code:	Supplier Product Cod	le:								
Agency Notes:		Supplier Notes:								
Rudy Construction Co.	First Offer - \$33.00	100 / linear foot	\$3,300.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
T.J. Campbell Construction Co.	First Offer - \$36.00	100 / linear foot	\$3,600.00		Y					
Product Code:		Supplier Product Cod	le:							

Agency Notes:			Supplier Notes:			
	First Offer - \$40.00	100 / linear foot	\$4,000.00	Υ		
Product Code:			le:			
		Supplier Notes:				
	First Offer - \$48.00	100 / linear foot	\$4,800.00	Υ		
		Supplier Product Code:				
		Supplier Notes:				
	First Offer - \$48.75	100 / linear foot	\$4,875.00	Υ		
		Supplier Product Cod	le:			
		Supplier Notes:				
		First Offer - \$48.00	First Offer - \$40.00 100 / linear foot Supplier Product Coc Supplier Notes: First Offer - \$48.00 100 / linear foot Supplier Product Coc Supplier Notes: First Offer - \$48.75 100 / linear foot Supplier Product Coc Supplier Product Coc	First Offer - \$40.00 100 / linear foot \$4,000.00	First Offer - \$40.00 100 / linear foot \$4,000.00 Y	

PC-0911, PC-0912 and PC-0913R01-19 BASE BID PC-0911: 713-10 3 INCH TRAFFIC SIGNAL CONDUIT (TRENCHED)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company	First Offer - \$30.00	100 / linear foot	\$3,000.00		Υ			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$35.00	100 / linear foot	\$3,500.00		Υ			
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:					
Ellsworth Construction OKC dba Atech Paving	First Offer - \$36.76	100 / linear foot	\$3,676.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:	F: +0.55 +20.50	Supplier Notes:	+2.050.00					
Haskell Lemon Group, LLC	First Offer - \$38.50	100 / linear foot	\$3,850.00		Y			
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:					
Rudy Construction Co.	First Offer - \$38.50	100 / linear foot	\$3,850.00		Υ			
Product Code: Agency Notes:	Supplier Product Cod Supplier Notes:	le:						
T.J. Campbell Construction Co.	First Offer - \$42.00	100 / linear foot	\$4,200.00		Υ			
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:					

PC-0911, PC-0912 and PC-0913R01-20 BASE BID PC-0911: 713-11 3 INCH TRAFFIC SIGNAL CONDUIT (BORED)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Haskell Lemon Group, LLC	First Offer - \$44.00	100 / linear foot	\$4,400.00		Υ				
Product Code: Agency Notes:	Supplier Product Cod Supplier Notes:	e:							
Rudy Construction Co.	First Offer - \$44.00	100 / linear foot	\$4,400.00		Υ				
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:						
T.J. Campbell Construction Co.	First Offer - \$48.00	100 / linear foot	\$4,800.00		Υ				
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:						
Atlas Paving Company	First Offer - \$60.00	100 / linear foot	\$6,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$69.00	100 / linear foot	\$6,900.00		Υ				
Product Code: Agency Notes:	Supplier Product Cod Supplier Notes:	e:							
Ellsworth Construction OKC dba Atech Paving	First Offer - \$72.75	100 / linear foot	\$7,275.00		Υ				
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:						

PC-0911, PC-0912 and PC-0913R01-21 BASE BID PC-0911: 714-04 5C CONDUCTOR TRAFFIC SIGNAL ELECTRICAL CABLE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			

Haskell Lemon Group, LLC	First Offer - \$4.75	200 / linear foot	\$950.00	Y		
Product Code:	Supplier Product Code:					
Agency Notes:		Supplier Notes:				
Rudy Construction Co.	First Offer - \$4.75	200 / linear foot	\$950.00	Υ		
Product Code:		Supplier Product Cod	e:			
Agency Notes:		Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$5.00	200 / linear foot	\$1,000.00	Y		
Product Code:	Supplier Product Code:					
Agency Notes:		Supplier Notes:				
Atlas Paving Company	First Offer - \$7.00	200 / linear foot	\$1,400.00	Y		
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$8.00	200 / linear foot	\$1,600.00	Y		
Product Code:		Supplier Product Cod	e:			
Agency Notes:	Supplier Notes:					
Ellsworth Construction OKC dba Atech Paving	First Offer - \$9.00	200 / linear foot	\$1,800.00	Y		
Product Code:		Supplier Product Cod	e:			
Agency Notes:		Supplier Notes:				

PC-0911, PC-0912 and PC-0913R01-22 BASE BID PC-0911: 714-05 7C CONDUCTOR TRAFFIC SIGNAL ELECTRICAL CABLE									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Haskell Lemon Group, LLC		First Offer - \$5.40	200 / linear foot	\$1,080.00		Y			
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:						
Rudy Construction Co.		First Offer - \$5.40	200 / linear foot	\$1,080.00		Y			
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	le:					
T.J. Campbell Construction Co.		First Offer - \$6.00	200 / linear foot	\$1,200.00		Y			
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	le:					
Atlas Paving Company		First Offer - \$8.00	200 / linear foot	\$1,600.00		Y			
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	le:					
SCHWARZ PAVING CO., INC.		First Offer - \$9.00	200 / linear foot	\$1,800.00		Y			
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	le:					
Ellsworth Construction OKC dba Atech Paving		First Offer - \$10.00	200 / linear foot	\$2,000.00		Y			
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	le:					

PC-0911, PC-0912 and PC-0913R01-23 BASE BID PC-091	1:	714-06 10C CONDUC	TOR TRAFFIC SIGNAL I	ELECTRICAL CABLE		
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Haskell Lemon Group, LLC		First Offer - \$6.70	200 / linear foot	\$1,340.00		Y
			Supplier Product Code: Supplier Notes:			
Rudy Construction Co.		First Offer - \$6.70	200 / linear foot	\$1,340.00		Υ
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	le:		
T.J. Campbell Construction Co.		First Offer - \$7.00	200 / linear foot	\$1,400.00		Y
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	le:		
Atlas Paving Company		First Offer - \$9.00	200 / linear foot	\$1,800.00		Υ
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			
SCHWARZ PAVING CO., INC.		First Offer - \$10.00	200 / linear foot	\$2,000.00		Y

Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$11.25	200 / linear foot	\$2,250.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

PC-0911, PC-0912 and PC-0913R01-24 BASE BID PC	-0911:	714-07 15C CONDUC	TOR TRAFFIC SIGNAL	ELECTRICAL CABLE		
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Haskell Lemon Group, LLC		First Offer - \$8.15	200 / linear foot	\$1,630.00		Υ
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$8.15	200 / linear foot	\$1,630.00		Υ
Product Code:		Supplier Product Cod	le:			
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$9.00	200 / linear foot	\$1,800.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Atlas Paving Company		First Offer - \$10.00	200 / linear foot	\$2,000.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
SCHWARZ PAVING CO., INC.		First Offer - \$12.00	200 / linear foot	\$2,400.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving		First Offer - \$12.50	200 / linear foot	\$2,500.00		Υ
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			

PC-0911, PC-0912 and PC-0913R01-25 BASE BID PC-0911	: 714-08 18C CONDUC	TOR TRAFFIC SIGNAL I	ELECTRICAL CABLE		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Haskell Lemon Group, LLC	First Offer - \$9.90	200 / linear foot	\$1,980.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
Rudy Construction Co.	First Offer - \$9.90	200 / linear foot	\$1,980.00		Υ
Product Code: Agency Notes:	Supplier Product Cod Supplier Notes:	le:			
T.J. Campbell Construction Co.	First Offer - \$11.00	200 / linear foot	\$2,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Atlas Paving Company	First Offer - \$11.00	200 / linear foot	\$2,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$13.00	200 / linear foot	\$2,600.00		Υ
		Supplier Product Cod Supplier Notes:	le:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$13.00	200 / linear foot	\$2,600.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		

PC-0911, PC-0912 and PC-0913R01-26 BASE BID PC-0911: 714-09 21C CONDUCTOR TRAFFIC SIGNAL ELECTRICAL CABLE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Haskell Lemon Group, LLC	First Offer - \$10.30	200 / linear foot	\$2,060.00		Y			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Rudy Construction Co.	First Offer - \$10.35	200 / linear foot	\$2,070.00		Y			
Product Code:		Supplier Product Cod	le:					

Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$11.00	200 / linear foot	\$2,200.00	Υ	
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
Atlas Paving Company	First Offer - \$12.00	200 / linear foot	\$2,400.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$14.00	200 / linear foot	\$2,800.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$14.75	200 / linear foot	\$2,950.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

PC-0911, PC-0912 and PC-0913R01-27 BASE BID PC	-0911:	714-10 (1 CONDUCT	OR)(AWG NO. 6) ELECT	RICAL CONDUCTO	R		
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Haskell Lemon Group, LLC		First Offer - \$4.60	200 / linear foot	\$920.00		Υ	
Product Code:			Supplier Product Cod	e:			
Agency Notes:			Supplier Notes:				
Rudy Construction Co.		First Offer - \$4.60	200 / linear foot	\$920.00		Y	
Product Code:		Supplier Product Cod	e:				
Agency Notes:			Supplier Notes:				
T.J. Campbell Construction Co.		First Offer - \$5.00	200 / linear foot	\$1,000.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Atlas Paving Company		First Offer - \$5.00	200 / linear foot	\$1,000.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
SCHWARZ PAVING CO., INC.		First Offer - \$6.00	200 / linear foot	\$1,200.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:		Supplier Notes:					
Ellsworth Construction OKC dba Atech Paving		First Offer - \$6.50	200 / linear foot	\$1,300.00		Y	
Product Code:			Supplier Product Cod	e:			
Agency Notes:			Supplier Notes:				

PC-0911, PC-0912 and PC-0913R01-28 BASE BID PC-0911: 714-11 (1 CONDUCTOR)(AWG NO. 10) ELECTRICAL CONDUCTOR						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company	First Offer - \$3.00	200 / linear foot	\$600.00		Υ	
Product Code:		Supplier Product Code	e:			
Agency Notes:		Supplier Notes:				
Haskell Lemon Group, LLC	First Offer - \$3.40	200 / linear foot	\$680.00		Y	
Product Code:		Supplier Product Code	e:			
Agency Notes:		Supplier Notes:				
Rudy Construction Co.	First Offer - \$3.40	200 / linear foot	\$680.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$3.75	200 / linear foot	\$750.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$4.00	200 / linear foot	\$800.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$4.00	200 / linear foot	\$800.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

PC-0911, PC-0912 and PC-0913R01-29 BASE BID PC-0911	: 717-03 PEDESTRIAN SIG	INAL HEAD (1 WAY	2 SEC.ADJ SIG. HD. (S-20)	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company	First Offer - \$815.00	7 / each	\$5,705.00		Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$950.00	7 / each	\$6,650.00		Υ
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$990.00	7 / each	\$6,930.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$1,075.00	7 / each	\$7,525.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$1,075.00	7 / each	\$7,525.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$1,200.00	7 / each	\$8,400.00		Υ
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			

PC-0911, PC-0912 and PC-0913R01-30 BASE BID PC-0911: 722-00 PEDESTRIAN PUSH BUTTON AND SIGN						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Rudy Construction Co.	First Offer - \$1,110.00	7 / each	\$7,770.00		Y	
Product Code:		Supplier Product 0	Code:			
Agency Notes:		Supplier Notes:				
Haskell Lemon Group, LLC	First Offer - \$1,115.00	7 / each	\$7,805.00		Y	
Product Code:	Supplier Product 0	Code:				
Agency Notes:		Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$1,200.00	7 / each	\$8,400.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Atlas Paving Company	First Offer - \$1,310.00	7 / each	\$9,170.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$1,500.00	7 / each	\$10,500.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$1,585.00	7 / each	\$11,095.00		Y	
Product Code:		Supplier Product (Code:			
Agency Notes:		Supplier Notes:				

PC-0911, PC-0912 and PC-0913R01-31 BASE BID PC-0911: 722-03 PEDESTRIAN PUSH BUTTON- CENTRAL CONTROL UNIT							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company	First Offer - \$4,950.00	1 / each	\$4,950.00		Υ		
Product Code:		Supplier Product (Code:				
Agency Notes:		Supplier Notes:					
Haskell Lemon Group, LLC	First Offer - \$5,215.00	1 / each	\$5,215.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Rudy Construction Co.	First Offer - \$5,215.00	1 / each	\$5,215.00		Υ		
Product Code:		Supplier Product (Code:				
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$5,700.00	1 / each	\$5,700.00		Y		

		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$6,000.00	1 / each	\$6,000.00	Υ	
		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$6,025.00	1 / each	\$6,025.00	Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PC-0911, PC-0912 and PC-0913R01-32 BASE BID PC-091	1: 724-67 PEDESTAL POLI	W/5 FOOT MOUNT	ING HEIGHT		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company	First Offer - \$1,500.00	2 / each	\$3,000.00		Y
		Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$1,850.00	2 / each	\$3,700.00		Y
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:			
Haskell Lemon Group, LLC	First Offer - \$1,900.00	2 / each	\$3,800.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$1,900.00	2 / each	\$3,800.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$2,000.00	2 / each	\$4,000.00		Y
		Supplier Product (Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.	First Offer - \$2,000.00	2 / each	\$4,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PC-0911, PC-0912 and PC-0913R01-33 BASE BID PC-0911	: 724-68 PEDESTAL POLE	W/10 FOOT MOUN	TING HEIGHT		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company	First Offer - \$1,800.00	5 / each	\$9,000.00		Υ
Product Code:		Supplier Product C	Code:		
Agency Notes:	1	Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$1,915.00	5 / each	\$9,575.00		Υ
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$1,915.00	5 / each	\$9,575.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$2,000.00	5 / each	\$10,000.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$2,100.00	5 / each	\$10,500.00		Υ
Product Code:		Supplier Product 0	Code:		
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$2,175.00	5 / each	\$10,875.00		Υ
Product Code:		Supplier Product 0	Code:		
Agency Notes:		Supplier Notes:			

PC-0911, PC-0912 and PC-0913R01-34 BASE BID PC-0911: 726-00 PULL BOX TYPE I								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company	First Offer - \$1,215.00	1 / each	\$1,215.00		Υ			
Product Code:		Supplier Product (Code:					

	Complian Natas		
	Supplier Notes:		
First Offer - \$1,500.00	1 / each	\$1,500.00	Υ
	Supplier Product C	Code:	
	Supplier Notes:		
First Offer - \$1,550.00	1 / each	\$1,550.00	Υ
Product Code:		Code:	
	Supplier Notes:		
First Offer - \$2,600.00	1 / each	\$2,600.00	Υ
	Supplier Product C	Code:	
	Supplier Notes:		
First Offer - \$2,600.00	1 / each	\$2,600.00	Υ
	Supplier Product C	Code:	
	Supplier Notes:		
First Offer - \$2,800.00	1 / each	\$2,800.00	Υ
	Supplier Product C	Code:	
	Supplier Notes:		
	First Offer - \$1,550.00 First Offer - \$2,600.00 First Offer - \$2,600.00	Supplier Product C Supplier Notes: 1 / each Supplier Product C Supplier Product C Supplier Notes: 1 / each Supplier Product C Supplier Notes: 1 / each Supplier Product C Supplier Notes: First Offer - \$2,600.00 1 / each Supplier Product C Supplier Notes: First Offer - \$2,800.00 1 / each Supplier Product C Supplier Notes: First Offer - \$2,800.00 1 / each Supplier Product C Supplier Product C	Supplier Product Code: Supplier Notes: First Offer - \$1,550.00 1 / each \$1,550.00

PC-0911, PC-0912 and PC-0913R01-35 BASE BID PC-0911	: 726-01 PULL BOX TYPE	II			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company	First Offer - \$1,500.00	1 / each	\$1,500.00		Υ
		Supplier Product C Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.	First Offer - \$1,700.00	1 / each	\$1,700.00		Υ
		Supplier Product C Supplier Notes:	Code:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$1,875.00	1 / each	\$1,875.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Haskell Lemon Group, LLC	First Offer - \$2,750.00	1 / each	\$2,750.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Rudy Construction Co.	First Offer - \$2,750.00	1 / each	\$2,750.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$3,000.00	1 / each	\$3,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		

PC-0911, PC-0912 and PC-0913R01-36 BASE BID PC-0911: 726-04 PULL BOX ADJUSTMENT							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Haskell Lemon Group, LLC	First Offer - \$1,050.00	1 / each	\$1,050.00		Υ		
		Supplier Product (Supplier Notes:	Code:				
Rudy Construction Co.	First Offer - \$1,050.00	1 / each	\$1,050.00		Υ		
		Supplier Product Code: Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$1,100.00	1 / each	\$1,100.00		Υ		
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:				
Atlas Paving Company	First Offer - \$1,750.00	1 / each	\$1,750.00		Υ		
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:				
SCHWARZ PAVING CO., INC.	First Offer - \$2,000.00	1 / each	\$2,000.00		Υ		
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:				

Ellsworth Construction OKC dba Atech Paving	First Offer - \$2,175.00	1 / each	\$2,175.00	Y
Product Code:		Supplier Product 0	ode:	
Agency Notes:		Supplier Notes:		

PC-0911, PC-0912 and PC-0913R01-37 BASE BID PC-091	1: 729-09 INSTALL AND RI	EMOVE PROJECT SIG	iN			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company	First Offer - \$650.00	1 / each	\$650.00		Υ	
		Supplier Product (Supplier Notes:	Code:			
Rudy Construction Co.	First Offer - \$715.00	1 / each	\$715.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
SCHWARZ PAVING CO., INC.	First Offer - \$1,000.00	1 / each	\$1,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$1,200.00	1 / each	\$1,200.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Haskell Lemon Group, LLC	First Offer - \$1,485.00	1 / each	\$1,485.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
T.J. Campbell Construction Co.	First Offer - \$1,800.00	1 / each	\$1,800.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			

PC-0911, PC-0912 and PC-0913R01-38 BASE BID PC-0911	: 729-10 REMOVE AND R	RELOCATE SIGN			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company	First Offer - \$150.00	1 / each	\$150.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.	First Offer - \$250.00	1 / each	\$250.00		Υ
		Supplier Product C Supplier Notes:	Code:		
Rudy Construction Co.	First Offer - \$300.00	1 / each	\$300.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$725.00	1 / each	\$725.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$950.00	1 / each	\$950.00		Υ
		Supplier Product C Supplier Notes:	Code:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$975.00	1 / each	\$975.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	·	

PC-0911, PC-0912 and PC-0913R01-39 BASE BID PC-0911: 735-00 TRAFFIC STRIPE (4 INCH WIDE)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company	First Offer - \$0.95	1600 / linear foot	\$1,520.00		Υ				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$1.05	1600 / linear foot	\$1,680.00		Υ				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$2.50	1600 / linear foot	\$4,000.00		Υ				

Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		
T.J. Campbell Construction Co.	First Offer - \$3.00	1600 / linear foot	\$4,800.00	Y
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$3.65	1600 / linear foot	\$5,840.00	Υ
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		
Haskell Lemon Group, LLC	First Offer - \$4.00	1600 / linear foot	\$6,400.00	Y
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		

PC-0911, PC-0912 and PC-0913R01-40 BASE BID PC	C-0911: 7	35-01 TRAFFIC STRIPE	(ARROWS) (SINGLE	i)		
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company		First Offer - \$125.00	20 / each	\$2,500.00		Υ
Product Code:			Supplier Product C	ode:		
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$138.00	20 / each	\$2,760.00		Y
Product Code:			Supplier Product C	ode:		
Agency Notes:			Supplier Notes:			
SCHWARZ PAVING CO., INC.		First Offer - \$175.00	20 / each	\$3,500.00		Y
Product Code:		Supplier Product Code:				
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving		First Offer - \$245.00	20 / each	\$4,900.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$550.00	20 / each	\$11,000.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Haskell Lemon Group, LLC		First Offer - \$703.50	20 / each	\$14,070.00		Υ
Product Code:			Supplier Product C	ode:		
Agency Notes:			Supplier Notes:			

PC-0911, PC-0912 and PC-0913R01-41 BASE BID PC-0911: 735-07 TRAFFIC STRIPE (8 INCH WIDE)									
Supplier	Unit Price	Qty/Unit	Attch.	Docs					
Atlas Paving Company	First Offer - \$2.00	1000 / linear foot	\$2,000.00		Y				
		Supplier Product Code: Supplier Notes:							
Rudy Construction Co.	First Offer - \$2.20	1000 / linear foot	\$2,200.00		Y				
		Supplier Product Code: Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$3.00	1000 / linear foot	\$3,000.00		Y				
		Supplier Product Code: Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$4.00	1000 / linear foot	\$4,000.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Ellsworth Construction OKC dba Atech Paving	First Offer - \$4.90	1000 / linear foot	\$4,900.00		Υ				
		Supplier Product Code: Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$5.10	1000 / linear foot	\$5,100.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							

PC-0911, PC-0912 and PC-0913R01-42 BASE BID PC-0911: 735-09 TRAFFIC STRIPE (24 INCH WIDE)
PC-0911, PC-0912 alia PC-0913R01-42 DASE DID PC-0911, 733-09 RAFFIC 31RIPE (24 INCH WIDE)

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ellsworth Construction OKC dba Atech Paving	First Offer - \$6.05	1600 / linear foot	\$9,680.00		Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$10.00	1600 / linear foot	\$16,000.00		Y
Product Code:		Supplier Product Code	: :		
Agency Notes:		Supplier Notes:			
Atlas Paving Company	First Offer - \$10.00	1600 / linear foot	\$16,000.00		Υ
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$11.00	1600 / linear foot	\$17,600.00		Y
Product Code:		Supplier Product Code	: :		
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$11.00	1600 / linear foot	\$17,600.00		Υ
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$13.30	1600 / linear foot	\$21,280.00		Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			

PC-0911, PC-0912 and PC-0913R01-43 BASE BID PC-0911: 738-08 REMOVE TRAFFIC MARKING (4 INCH WIDE STRIPE)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company	First Offer - \$0.25	200 / linear foot	\$50.00		Υ			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						
Rudy Construction Co.	First Offer - \$2.00	200 / linear foot	\$400.00		Y			
Product Code:	Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$2.00	200 / linear foot	\$400.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Ellsworth Construction OKC dba Atech Paving	First Offer - \$2.80	200 / linear foot	\$560.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$3.75	200 / linear foot	\$750.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:	Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$4.85	200 / linear foot	\$970.00		Υ			
Product Code:		Supplier Product Cod	e:					
Agency Notes:	Supplier Notes:							

PC-0911, PC-0912 and PC-0913R01-44 BASE BID PC-0911: 738-08 REMOVE TRAFFIC MARKING (24 INCH WIDE STRIPE)							
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company		First Offer - \$0.50	200 / linear foot	\$100.00		Υ	
Product Code:			Supplier Product Cod	le:			
Agency Notes:			Supplier Notes:				
Rudy Construction Co.		First Offer - \$2.00	200 / linear foot	\$400.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
SCHWARZ PAVING CO., INC.		First Offer - \$4.00	200 / linear foot	\$800.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	П	First Offer - \$6.40	200 / linear foot	\$1,280.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
	ТΤ						

T.J. Campbell Construction Co.	First Offer - \$15.00	200 / linear foot	\$3,000.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$19.50	200 / linear foot	\$3,900.00	Υ	
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			

PC-0911, PC-0912 and PC-0913R01-45 BASE BID PC-0911: 738-08 REMOVE TRAFFIC MARKING (ARROWS)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company	First Offer - \$25.00	5 / each	\$125.00		Υ			
Product Code:	·	Supplier Product C	Code:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$50.00	5 / each	\$250.00		Y			
Product Code:		Supplier Product C	ode:					
Agency Notes:	Supplier Notes:							
Rudy Construction Co.	First Offer - \$75.00	5 / each	\$375.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$90.00	5 / each	\$450.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Haskell Lemon Group, LLC	First Offer - \$117.00	5 / each	\$585.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Ellsworth Construction OKC dba Atech Paving	First Offer - \$135.20	5 / each	\$676.00		Y			
Product Code:		Supplier Product C	ode:					
Agency Notes:	Supplier Notes:							

PC-0911, PC-0912 and PC-0913R01-46 BASE BID PC-091	1: 745-01 RADAR DETECTION	ON SYSTEM (ADVAN	ICE SENSORS)		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company	First Offer - \$8,245.00	6 / each	\$49,470.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.	First Offer - \$9,500.00	6 / each	\$57,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$9,910.00	6 / each	\$59,460.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Haskell Lemon Group, LLC	First Offer - \$10,330.00	6 / each	\$61,980.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co.	First Offer - \$10,350.00	6 / each	\$62,100.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$11,000.00	6 / each	\$66,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PC-0911, PC-0912 and PC-0913R01-47 BASE BID PC-0911: 745-02 RADAR DETECTION SYSTEM (PRESENCE SENSORS)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company	First Offer - \$8,200.00	6 / each	\$49,200.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:	Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$9,500.00	6 / each	\$57,000.00		Υ			

Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$9,860.00	6 / each	\$59,160.00	Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Haskell Lemon Group, LLC	First Offer - \$10,560.00	6 / each	\$63,360.00	Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co.	First Offer - \$10,600.00	6 / each	\$63,600.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$11,500.00	6 / each	\$69,000.00	Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PC-0911, PC-0912 and PC-0913R01-48 BASE BID PC-0	911	: 745-04 RADAR CABINET	INTERFACE (CLICK	656 OR NEWEST M	ODEL)	
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company		First Offer - \$7,500.00	2 / each	\$15,000.00		Υ
			Supplier Product (Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.		First Offer - \$8,600.00	2 / each	\$17,200.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba Atech Paving		First Offer - \$9,050.00	2 / each	\$18,100.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Haskell Lemon Group, LLC		First Offer - \$10,450.00	2 / each	\$20,900.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co.		First Offer - \$10,500.00	2 / each	\$21,000.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.		First Offer - \$11,500.00	2 / each	\$23,000.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		

PC-0911, PC-0912 and PC-0913R01-49 BASE BID PC-0911	1: 745-05 RADAR DETE	CTOR CABLE				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Haskell Lemon Group, LLC	First Offer - \$3.00	1500 / linear foot	\$4,500.00		Υ	
Product Code:		Supplier Product Code	:			
Agency Notes:		Supplier Notes:				
Rudy Construction Co.	First Offer - \$3.00	1500 / linear foot	\$4,500.00		Y	
Product Code:		Supplier Product Code	:			
Agency Notes:		Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$3.25	1500 / linear foot	\$4,875.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Atlas Paving Company	First Offer - \$5.00	1500 / linear foot	\$7,500.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$6.00	1500 / linear foot	\$9,000.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$6.05	1500 / linear foot	\$9,075.00		Y	
Product Code:		Supplier Product Code	:			

Agency Notes: Supplier Notes:

PC-0911, PC-0912 and PC-0913R01-50 BASE BID PC-09	11: 745-06 SWITCH FOR EX	ISTING TRAFFIC COI	NTROL CABINET		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company	First Offer - \$1,995.00	1 / each	\$1,995.00		Υ
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:			
Rudy Construction Co.	First Offer - \$2,220.00	1 / each	\$2,220.00		Y
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:			
Haskell Lemon Group, LLC	First Offer - \$2,225.00	1 / each	\$2,225.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$2,400.00	1 / each	\$2,400.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$2,475.00	1 / each	\$2,475.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$2,500.00	1 / each	\$2,500.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PC-0911, PC-0912 and PC-0913R01-51 BASE BID PC-09	11: 809-00 MOBILIZATION					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Rudy Construction Co.	First Offer - \$50,850.00	1 / lump sum	\$50,850.00		Υ	
Product Code: Agency Notes:						
Ellsworth Construction OKC dba Atech Paving	First Offer - \$52,400.00	1 / lump sum	\$52,400.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$55,000.00	1 / lump sum	\$55,000.00		Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Haskell Lemon Group, LLC	First Offer - \$62,500.00	1 / lump sum	\$62,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Atlas Paving Company	First Offer - \$64,000.00	1 / lump sum	\$64,000.00		Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$67,000.00	1 / lump sum	\$67,000.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			

PC-0911, PC-0912 and PC-0913R01-52 BASE BID PC-0911: 811-11 STRUCTURE REMOVAL (ALL STORM SEWER INLETS)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$700.00	1 / each	\$700.00		Y				
Product Code:	Supplier Product Code:								
Agency Notes:	Supplier Notes:								
T.J. Campbell Construction Co.	First Offer - \$1,250.00	1 / each	\$1,250.00		Y				
Product Code:	Supplier Product Code:								
Agency Notes:	Supplier Notes:								
Haskell Lemon Group, LLC	First Offer - \$1,320.00	1 / each	\$1,320.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

SCHWARZ PAVING CO., INC.	First Offer - \$2,000.00	1 / each	\$2,000.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$2,800.00	1 / each	\$2,800.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Atlas Paving Company	First Offer - \$5,000.00	1 / each	\$5,000.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

PC-0911, PC-0912 and PC-0913R01-53 BASE BID PC	C-0911:	812-01 REMOVE SIDE	WALK			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.		First Offer - \$10.00	54 / square yard	\$540.00		Y
Product Code:			Supplier Product Code):		
Agency Notes:			Supplier Notes:			
Haskell Lemon Group, LLC		First Offer - \$11.00	54 / square yard	\$594.00		Y
Product Code:			Supplier Product Code	2:		
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving		First Offer - \$15.00	54 / square yard	\$810.00		Y
Product Code:		Supplier Product Code:				
Agency Notes:			Supplier Notes:			
SCHWARZ PAVING CO., INC.		First Offer - \$19.00	54 / square yard	\$1,026.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Atlas Paving Company		First Offer - \$25.00	54 / square yard	\$1,350.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$45.00	54 / square yard	\$2,430.00		Y
Product Code:			Supplier Product Code	2:		
Agency Notes:			Supplier Notes:			

PC-0911, PC-0912 and PC-0913R01-54 BASE BID PC-0911: 812-02 REMOVE CURB AND GUTTER							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$10.00	300 / linear foot	\$3,000.00		Υ		
Product Code:		Supplier Product Cod	le:				
Agency Notes:		Supplier Notes:					
Haskell Lemon Group, LLC	First Offer - \$11.00	300 / linear foot	\$3,300.00		Υ		
		Supplier Product Cod Supplier Notes:	le:				
Agency Notes:	F: . O	• •	+2.000.00				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$13.00	300 / linear foot	\$3,900.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Atlas Paving Company	First Offer - \$15.00	300 / linear foot	\$4,500.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$18.00	300 / linear foot	\$5,400.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$34.00	300 / linear foot	\$10,200.00		Y		
Product Code:		Supplier Product Cod	le:				
Agency Notes:		Supplier Notes:					

PC-0911, PC-0912 and PC-0913R01-55 BASE BID PC-0911: 818-05 PAVEMENT REPAIR (9 INCHES)						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.		First Offer - \$85.00	300 / square yard	\$25,500.00		Υ

Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC.	First Offer - \$110.00	300 / square yard	\$33,000.00	Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
Ellsworth Construction OKC dba Atech Paving	First Offer - \$115.00	300 / square yard	\$34,500.00	Υ
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		
T.J. Campbell Construction Co.	First Offer - \$150.00	300 / square yard	\$45,000.00	Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
Atlas Paving Company	First Offer - \$150.00	300 / square yard	\$45,000.00	Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
Haskell Lemon Group, LLC	First Offer - \$230.50	300 / square yard	\$69,150.00	Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	

PC-0911, PC-0912 and PC-0913R01-56 BASE BID PC-0911: 819-03 ADJUST EXISTING STRUCTURE (2-0 INLET REPAIR)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Haskell Lemon Group, LLC	First Offer - \$880.00	3 / each	\$2,640.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$1,250.00	3 / each	\$3,750.00		Y		
		Supplier Product Code: Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$1,600.00	3 / each	\$4,800.00		Y		
		Supplier Product Code: Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$2,000.00	3 / each	\$6,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Rudy Construction Co.	First Offer - \$3,500.00	3 / each	\$10,500.00		Υ		
		Supplier Product C Supplier Notes:	Code:				
Atlas Paving Company	First Offer - \$7,500.00	3 / each	\$22,500.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:				

PC-0911, PC-0912 and PC-0913R01-57 BASE BID PC-0911: 819-20 STORM SEWER CAST GRATE REPLACEMENT							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Haskell Lemon Group, LLC	First Offer - \$330.00	2 / each	\$660.00		Υ		
Product Code:		Supplier Product C	ode:				
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$415.00	2 / each	\$830.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Ellsworth Construction OKC dba Atech Paving	First Offer - \$500.00	2 / each	\$1,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$600.00	2 / each	\$1,200.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Rudy Construction Co.	First Offer - \$625.00	2 / each	\$1,250.00		Y		
Product Code:		Supplier Product C	ode:				

Agency Notes:		Supplier Notes:			
Atlas Paving Company	First Offer - \$750.00	2 / each	\$1,500.00		Υ
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			

PC-0911, PC-0912 and PC-0913R01-58 BASE BID PC-0911: 823-00 SIDEWALK (4 INCHES)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Haskell Lemon Group, LLC	First Offer - \$68.50	40 / square yard	\$2,740.00		Υ			
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:					
Atlas Paving Company	First Offer - \$75.00	40 / square yard	\$3,000.00		Υ			
		Supplier Product Cod Supplier Notes:	e:					
SCHWARZ PAVING CO., INC.	First Offer - \$80.00	40 / square yard	\$3,200.00		Υ			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$85.00	40 / square yard	\$3,400.00		Υ			
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:					
Rudy Construction Co.	First Offer - \$110.00	40 / square yard	\$4,400.00		Υ			
		Supplier Product Cod Supplier Notes:	e:					
Ellsworth Construction OKC dba Atech Paving	First Offer - \$130.00	40 / square yard	\$5,200.00		Υ			
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:					

PC-0911, PC-0912 and PC-0913R01-59 BASE BID PC-0911: 823-15 SIDEWALK (8 INCHES)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Haskell Lemon Group, LLC	First Offer - \$79.50	40 / square yard	\$3,180.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$90.00	40 / square yard	\$3,600.00		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$100.00	40 / square yard	\$4,000.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$100.00	40 / square yard	\$4,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Rudy Construction Co.	First Offer - \$140.00	40 / square yard	\$5,600.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Ellsworth Construction OKC dba Atech Paving	First Offer - \$150.00	40 / square yard	\$6,000.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

PC-0911, PC-0912 and PC-0913R01-60 BASE BID PC-0911: 830-04 TACTILE MARKERS/TRUNCATED DOMES							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
T.J. Campbell Construction Co.	First Offer - \$31.00	102 / square foot	\$3,162.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Haskell Lemon Group, LLC	First Offer - \$33.00	102 / square foot	\$3,366.00		Υ		
Product Code:		Supplier Product Code	:				
Agency Notes:		Supplier Notes:					

Atlas Paving Company	First Offer - \$35.00	102 / square foot	\$3,570.00	Υ	
Product Code:		Supplier Product Code	: :		
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$35.00	102 / square foot	\$3,570.00	Υ	
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$40.00	102 / square foot	\$4,080.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$45.00	102 / square foot	\$4,590.00	Υ	
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			

PC-0911, PC-0912 and PC-0913R01-61 BASE BID PC-	0911: 830-09 ADA CURB RA	AMP (8 INCHES)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Haskell Lemon Group, LLC	First Offer - \$134.00	62 / square yard	\$8,308.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$140.00	62 / square yard	\$8,680.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
Rudy Construction Co.	First Offer - \$150.00	62 / square yard	\$9,300.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
Atlas Paving Company	First Offer - \$200.00	62 / square yard	\$12,400.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
T.J. Campbell Construction Co.	First Offer - \$235.00	62 / square yard	\$14,570.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
SCHWARZ PAVING CO., INC.	First Offer - \$250.00	62 / square yard	\$15,500.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		

PC-0911, PC-0912 and PC-0913R01-62 BASE BID PC-0911: 840-00 SOLID SLAB SODDING									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
T.J. Campbell Construction Co.	First Offer - \$4.25	200 / square yard	\$850.00		Υ				
		Supplier Product Code: Supplier Notes:							
Rudy Construction Co.	First Offer - \$6.00	200 / square yard	\$1,200.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Ellsworth Construction OKC dba Atech Paving	First Offer - \$7.00	200 / square yard	\$1,400.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$8.00	200 / square yard	\$1,600.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$8.25	200 / square yard	\$1,650.00		Υ				
Product Code:		Supplier Product Code: Supplier Notes:							
Atlas Paving Company	First Offer - \$10.00	200 / square yard	\$2,000.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							

PC-0911, PC-0912 and PC-0913R02-01 BASE BID PC-091	12: 200-01 UNSUITABLE I	MATERIAL EXCAVATIO	N		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$25.00	100 / cubic yard	\$2,500.00		Y
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$30.00	100 / cubic yard	\$3,000.00		Y
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$35.00	100 / cubic yard	\$3,500.00		Y
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$50.00	100 / cubic yard	\$5,000.00		Y
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$75.00	100 / cubic yard	\$7,500.00		Υ
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
Atlas Paving Company	First Offer - \$100.00	100 / cubic yard	\$10,000.00		Υ
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			

PC-0911, PC-0912 and PC-0913R02-02 BASE BID PC	:-091	2: 220-02 PROOF I	ROL	LING			
Supplier		Unit Pri	ce	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company		First Offer - \$0.0)1	23711 / square yard	\$237.11		Υ
Product Code:				Supplier Product Code:			
Agency Notes:				Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$0.7	10	23711 / square yard	\$2,371.10		Υ
Product Code:				Supplier Product Code:			
Agency Notes:				Supplier Notes:			
Rudy Construction Co.		First Offer - \$0.7	15	23711 / square yard	\$3,556.65		Υ
Product Code:				Supplier Product Code:			
Agency Notes:				Supplier Notes:			
SCHWARZ PAVING CO., INC.		First Offer - \$0.2	20	23711 / square yard	\$4,742.20		Υ
Product Code:				Supplier Product Code:			
Agency Notes:				Supplier Notes:			
Haskell Lemon Group, LLC		First Offer - \$0.3	30	23711 / square yard	\$7,113.30		Υ
Product Code:				Supplier Product Code:			
Agency Notes:				Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving		First Offer - \$0.5	50	23711 / square yard	\$11,855.50		Υ
Product Code:				Supplier Product Code:			
Agency Notes:				Supplier Notes:			

PC-0911, PC-0912 and PC-0913R02-03 BASE BID PC-0912: 225-00 AGGREGATE BASE (TYPE A)								
Supplier	· Unit Pric		Qty/Unit	Total Price	Attch.	Docs		
Haskell Lemon Group, LLC		First Offer - \$55.00	100 / cubic yard	\$5,500.00		Υ		
Product Code:			Supplier Product Cod	le:				
Agency Notes:			Supplier Notes:					
Rudy Construction Co.		First Offer - \$75.00	100 / cubic yard	\$7,500.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
T.J. Campbell Construction Co.		First Offer - \$80.00	100 / cubic yard	\$8,000.00		Y		
Product Code:			Supplier Product Cod	le:				
Agency Notes:		Supplier Notes:						
Ellsworth Construction OKC dba Atech Paving		First Offer - \$89.50	100 / cubic yard	\$8,950.00		Y		
Product Code:		Supplier Product Cod	le:					

Agency Notes:		Supplier Notes:		
Atlas Paving Company	First Offer - \$100.00	100 / cubic yard	\$10,000.00	Υ
Product Code:		Supplier Product Cod	le:	
Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC.	First Offer - \$150.00	100 / cubic yard	\$15,000.00	Y
Product Code:		Supplier Product Cod	le:	
Agency Notes:		Supplier Notes:		

PC-0911, PC-0912 and PC-0913R02-04 BASE BID PC	C-0912:	301-39 SUPERPAVE TYP	PE S5 (PG 70-28 OK)			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ellsworth Construction OKC dba Atech Paving		First Offer - \$125.60	3011 / ton	\$378,181.60		Υ
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			
SCHWARZ PAVING CO., INC.		First Offer - \$132.00	3011 / ton	\$397,452.00		Y
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			
Atlas Paving Company		First Offer - \$135.00	3011 / ton	\$406,485.00		Y
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$145.00	3011 / ton	\$436,595.00		Y
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			
Haskell Lemon Group, LLC		First Offer - \$150.00	3011 / ton	\$451,650.00		Y
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$160.00	3011 / ton	\$481,760.00		Y
Product Code:			Supplier Product C	ode:		
Agency Notes:			Supplier Notes:			

PC-0911, PC-0912 and PC-0913R02-05 BASE BID PC-0912: 301-40 SUPERPAVE TYPE S6 (PG 70-28 OK) Crack Filling						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Rudy Construction Co.	First Offer - \$200.00	10 / ton	\$2,000.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$335.00	10 / ton	\$3,350.00		Υ	
Product Code:		Supplier Product C	ode:			
Agency Notes:		Supplier Notes:				
Atlas Paving Company	First Offer - \$500.00	10 / ton	\$5,000.00		Υ	
Product Code:		Supplier Product C	ode:			
Agency Notes:		Supplier Notes:				
Haskell Lemon Group, LLC	First Offer - \$500.00	10 / ton	\$5,000.00		Y	
Product Code:		Supplier Product C	ode:			
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$600.00	10 / ton	\$6,000.00		Y	
Product Code:		Supplier Product C	ode:			
Agency Notes:		Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$650.00	10 / ton	\$6,500.00		Υ	
Product Code:		Supplier Product C	ode:			
Agency Notes:		Supplier Notes:				

PC-0911, PC-0912 and PC-0913R02-06 BASE BID PC-0912: 304-04 P C CONC PVMT (6 INCH) (4000 HES)								
Supplier Unit Price Qty/Unit Total Price Attch.								
Atlas Paving Company	First Offer - \$85.00	500 / square yards	\$42,500.00		Υ			
Product Code:		Supplier Product Code						
Agency Notes:		Supplier Notes:						

Haskell Lemon Group, LLC	First Offer - \$85.00	500 / square yards	\$42,500.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$85.65	500 / square yards	\$42,825.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Rudy Construction Co.	First Offer - \$90.00	500 / square yards	\$45,000.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC.	First Offer - \$95.00	500 / square yards	\$47,500.00	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
T.J. Campbell Construction Co.	First Offer - \$195.00	500 / square yards	\$97,500.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

PC-0911, PC-0912 and PC-0913R-02-07 BASE BID PC-09	912: 304-06 P. C	. CONC. P	AVEMENT (8 INCHES) (4	000 PSI HES) (REIN	F. CONC.	VALLEY
Supplier	Į (Jnit Price	Qty/Unit	Total Price	Attch.	Docs
Haskell Lemon Group, LLC	First Offer -	\$101.00	900 / square yard	\$90,900.00		Υ
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	:		
SCHWARZ PAVING CO., INC.	First Offer -	\$110.00	900 / square yard	\$99,000.00		Υ
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	:		
Ellsworth Construction OKC dba Atech Paving	First Offer -	\$120.00	900 / square yard	\$108,000.00		Υ
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	:		
Atlas Paving Company	First Offer -	\$125.00	900 / square yard	\$112,500.00		Υ
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	:		
Rudy Construction Co.	First Offer -	\$130.00	900 / square yard	\$117,000.00		Υ
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	:		
T.J. Campbell Construction Co.	First Offer -	\$190.00	900 / square yard	\$171,000.00		Υ
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	:		

PC-0911, PC-0912 and PC-0913R-02-08 BASE BID PC-0912: 304-07 P. C. CONC. PAVEMENT (8 INCHES) (DOWELL JOINTED) (4000 PSI HES)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Haskell Lemon Group, LLC	First Offer - \$95.00	1500 / square yard	\$142,500.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Rudy Construction Co.	First Offer - \$95.00	1500 / square yard	\$142,500.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$110.00	1500 / square yard	\$165,000.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Atlas Paving Company	First Offer - \$115.00	1500 / square yard	\$172,500.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$115.00	1500 / square yard	\$172,500.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

T.J. Campbell Construction Co.	First Offer -	\$167.00	1500 / square yard	\$250,500.00	Y
Product Code:			Supplier Product Code:		
Agency Notes:			Supplier Notes:		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company	First Offer - \$30.00	1400 / linear foot	\$42,000.00		Υ
		Supplier Product Code Supplier Notes:	:		
Haskell Lemon Group, LLC	First Offer - \$30.00	1400 / linear foot	\$42,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$33.00	1400 / linear foot	\$46,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Rudy Construction Co.	First Offer - \$35.00	1400 / linear foot	\$49,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
SCHWARZ PAVING CO., INC.	First Offer - \$45.00	1400 / linear foot	\$63,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
T.J. Campbell Construction Co.	First Offer - \$53.00	1400 / linear foot	\$74,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		

PC-0911, PC-0912 and PC-0913R02-10 BASE BID PC-0912: 309-12 COLD MILLING PAVEMENT (ASPH. UP TO 4 INCHES)(FINE MILL)									
Supplier		Unit P	rice	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.		First Offer - \$2	2.75	23711 / square yard	\$65,205.25		Υ		
Product Code:				Supplier Product Code:					
Agency Notes:				Supplier Notes:					
Ellsworth Construction OKC dba Atech Paving		First Offer - \$3	3.25	23711 / square yard	\$77,060.75		Y		
Product Code:				Supplier Product Code:					
Agency Notes:				Supplier Notes:					
T.J. Campbell Construction Co.		First Offer - \$4	4.00	23711 / square yard	\$94,844.00		Υ		
Product Code:				Supplier Product Code:					
Agency Notes:				Supplier Notes:					
SCHWARZ PAVING CO., INC.		First Offer - \$4	4.50	23711 / square yard	\$106,699.50		Υ		
Product Code:				Supplier Product Code:					
Agency Notes:				Supplier Notes:					
Haskell Lemon Group, LLC		First Offer - \$5	5.25	23711 / square yard	\$124,482.75		Υ		
Product Code:				Supplier Product Code:					
Agency Notes:				Supplier Notes:					
Atlas Paving Company		First Offer - \$6	6.00	23711 / square yard	\$142,266.00		Υ		
Product Code:				Supplier Product Code:					
Agency Notes:				Supplier Notes:					

PC-0911, PC-0912 and PC-0913R02-11 BASE BID PC-0912: 310-05 CLEANING AND SEALING P.C. CONCRETE JOINTS										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Atlas Paving Company	First Offer - \$3.00	1400 / linear foot	\$4,200.00		Y					
Product Code:	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
Haskell Lemon Group, LLC	First Offer - \$3.30	1400 / linear foot	\$4,620.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Ellsworth Construction OKC dba Atech Paving	First Offer - \$3.50	1400 / linear foot	\$4,900.00		Y					

Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$4.00	1400 / linear foot	\$5,600.00	Y	
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$4.10	1400 / linear foot	\$5,740.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$7.00	1400 / linear foot	\$9,800.00	Υ	
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			

PC-0911, PC-0912 and PC-0913R02-12 BASE BID PC-09	912: 310-06 CLEANING A	AND SEALING P.C. CONC	RETE CRACKS			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company	First Offer - \$3.00	1000 / linear foot	\$3,000.00		Υ	
Product Code:		Supplier Product Code	:			
Agency Notes:		Supplier Notes:				
Haskell Lemon Group, LLC	First Offer - \$3.30	1000 / linear foot	\$3,300.00		Υ	
Product Code:		Supplier Product Code	:			
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$3.75	1000 / linear foot	\$3,750.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Rudy Construction Co.	First Offer - \$4.00	1000 / linear foot	\$4,000.00		Υ	
Product Code:		Supplier Product Code	:			
Agency Notes:		Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$4.10	1000 / linear foot	\$4,100.00		Υ	
Product Code:		Supplier Product Code	:			
Agency Notes:		Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$7.00	1000 / linear foot	\$7,000.00		Υ	
Product Code:		Supplier Product Code	:			
Agency Notes:		Supplier Notes:				

PC-0911, PC-0912 and PC-0913R02-13 BASE BID PC-0912: 313-01 TACK COAT (ULTRA TACK)									
Supplier		Unit Price	Qty/Unit		Total Price	Attch.	Docs		
SCHWARZ PAVING CO., INC.		First Offer - \$5.00	2371 / gallon		\$11,855.00		Υ		
Product Code:			Supplier Product C	ode:					
Agency Notes:			Supplier Notes:						
Haskell Lemon Group, LLC		First Offer - \$5.50	2371 / gallon		\$13,040.50		Υ		
Product Code:			Supplier Product C	ode:					
Agency Notes:			Supplier Notes:						
Atlas Paving Company		First Offer - \$6.00	2371 / gallon		\$14,226.00		Y		
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
T.J. Campbell Construction Co.		First Offer - \$6.50	2371 / gallon		\$15,411.50		Υ		
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Ellsworth Construction OKC dba Atech Paving		First Offer - \$6.50	2371 / gallon		\$15,411.50		Y		
Product Code:			Supplier Product C	ode:					
Agency Notes:			Supplier Notes:						
Rudy Construction Co.		First Offer - \$9.00	2371 / gallon		\$21,339.00		Υ		
Product Code:			Supplier Product C	ode:					
Agency Notes:			Supplier Notes:						

PC-0911. PC-0912 and PC-0913R02-14	BASE BID PC-0912: 459-01 AD	JUST MANHOLE TO GRADE

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Haskell Lemon Group, LLC	First Offer - \$775.00	1 / each	\$775.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Ellsworth Construction OKC dba Atech Paving	First Offer - \$800.00	1 / each	\$800.00		Y		
Product Code:		Supplier Product (Code:				
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$1,500.00	1 / each	\$1,500.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Atlas Paving Company	First Offer - \$1,500.00	1 / each	\$1,500.00		Y		
Product Code:		Supplier Product (Code:				
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$2,000.00	1 / each	\$2,000.00		Y		
Product Code:		Supplier Product (Code:				
Agency Notes:		Supplier Notes:					
Rudy Construction Co.	First Offer - \$11,000.00	1 / each	\$11,000.00		Y		
Product Code:		Supplier Product (Code:				
Agency Notes:		Supplier Notes:					

PC-0911, PC-0912 and PC-0913R02-15 BASE BID PC-0912: 460-00 PROVIDE AND SET NEW MANHOLE RING AND COVER										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Haskell Lemon Group, LLC	First Offer - \$715.00	1 / each	\$715.00		Υ					
Product Code:	Supplier Product (Code:								
Agency Notes:		Supplier Notes:								
Ellsworth Construction OKC dba Atech Paving	First Offer - \$850.00	1 / each	\$850.00		Y					
Product Code:		Supplier Product (Code:							
Agency Notes:		Supplier Notes:								
Atlas Paving Company	First Offer - \$1,500.00	1 / each	\$1,500.00		Υ					
Product Code:		Supplier Product (Code:							
Agency Notes:		Supplier Notes:								
T.J. Campbell Construction Co.	First Offer - \$1,900.00	1 / each	\$1,900.00		Y					
Product Code:		Supplier Product (Code:							
Agency Notes:		Supplier Notes:								
SCHWARZ PAVING CO., INC.	First Offer - \$2,500.00	1 / each	\$2,500.00		Y					
Product Code:		Supplier Product (Code:							
Agency Notes:		Supplier Notes:								
Rudy Construction Co.	First Offer - \$10,000.00	1 / each	\$10,000.00		Y					
Product Code:		Supplier Product (Code:							
Agency Notes:		Supplier Notes:								

PC-0911, PC-0912 and PC-0913R02-16 BASE BID PC-0912: 520-03 VALVE BOX ADJUST TO GRADE										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Haskell Lemon Group, LLC	First Offer - \$330.00	7 / each	\$2,310.00		Υ					
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:							
Rudy Construction Co.	First Offer - \$350.00	7 / each	\$2,450.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Atlas Paving Company	First Offer - \$500.00	7 / each	\$3,500.00		Υ					
Product Code:		Supplier Product C	ode:							
Agency Notes:		Supplier Notes:								
Ellsworth Construction OKC dba Atech Paving	First Offer - \$600.00	7 / each	\$4,200.00		Υ					
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:							

T.J. Campbell Construction Co.	First Offer - \$615.00	7 / each	\$4,305.00		Υ
Product Code: St		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$800.00	7 / each	\$5,600.00		Υ
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			

PC-0911, PC-0912 and PC-0913R02-17 BASE BID PC-0912	2: 713-00 3 INCH GALV	ANIZED STEEL CONDU	IT (INSTALLED			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Rudy Construction Co.	First Offer - \$64.00	200 / linear foot	\$12,800.00		Υ	
Product Code: Agency Notes:	Supplier Product Cod Supplier Notes:	le:				
Haskell Lemon Group, LLC	First Offer - \$65.00	200 / linear foot	\$13,000.00		Y	
Product Code: Agency Notes:	Supplier Product Cod Supplier Notes:	le:				
T.J. Campbell Construction Co.	First Offer - \$70.00	200 / linear foot	\$14,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Atlas Paving Company	First Offer - \$75.00	200 / linear foot	\$15,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:			
SCHWARZ PAVING CO., INC.	First Offer - \$86.00	200 / linear foot	\$17,200.00		Υ	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$90.50	200 / linear foot	\$18,100.00		Υ	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:			

PC-0911, PC-0912 and PC-0913R02-18 BASE BID PC-0912	2: 713-08 2 INCH TRAFF	FIC SIGNAL CONDUIT (TRENCHED)		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company	First Offer - \$25.00	200 / linear foot	\$5,000.00		Υ
Product Code: Agency Notes:	Supplier Product Cod Supplier Notes:	e:			
SCHWARZ PAVING CO., INC.	First Offer - \$28.00	200 / linear foot	\$5,600.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Haskell Lemon Group, LLC	First Offer - \$30.00	200 / linear foot	\$6,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$30.00	200 / linear foot	\$6,000.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$30.50	200 / linear foot	\$6,100.00		Υ
Product Code: Agency Notes:	Supplier Product Cod Supplier Notes:	e:			
T.J. Campbell Construction Co.	First Offer - \$32.00	200 / linear foot	\$6,400.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:	·	

PC-0911, PC-0912 and PC-0913R-02-19 BASE BID PC-0912: 713-09 2 INCH TRAFFIC SIGNAL CONDUIT (BORED)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Haskell Lemon Group, LLC	First Offer - \$33.00	200 / linear foot	\$6,600.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:	Supplier Notes:						
Rudy Construction Co.	First Offer - \$33.00	200 / linear foot	\$6,600.00		Υ		

Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$36.00	200 / linear foot	\$7,200.00	Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
Atlas Paving Company	First Offer - \$40.00	200 / linear foot	\$8,000.00	Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
SCHWARZ PAVING CO., INC.	First Offer - \$45.00	200 / linear foot	\$9,000.00	Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
Ellsworth Construction OKC dba Atech Paving	First Offer - \$48.45	200 / linear foot	\$9,690.00	Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:	

PC-0911, PC-0912 and PC-0913R02-20 BASE BID PC-0	912: 713-10 3	NCH TRAFF	IC SIGNAL CONDUIT (TRENCHED)			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company	First Off	er - \$30.00	200 / linear foot	\$6,000.00		Υ	
			Supplier Product Coc Supplier Notes:	le:			
SCHWARZ PAVING CO., INC.	First Off	er - \$35.00	200 / linear foot	\$7,000.00		Υ	
Product Code: Agency Notes:			Supplier Product Coo Supplier Notes:	le:			
Ellsworth Construction OKC dba Atech Paving	First Off	er - \$36.45	200 / linear foot	\$7,290.00		Υ	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Haskell Lemon Group, LLC	First Off	er - \$38.50	200 / linear foot	\$7,700.00		Υ	
Product Code: Agency Notes:	•		Supplier Product Coc Supplier Notes:	le:			
Rudy Construction Co.	First Off	er - \$38.50	200 / linear foot	\$7,700.00		Υ	
Product Code: Agency Notes:			Supplier Product Coc Supplier Notes:	le:			
T.J. Campbell Construction Co.	First Off	er - \$42.00	200 / linear foot	\$8,400.00		Υ	
Product Code: Agency Notes:			Supplier Product Coc Supplier Notes:	le:			

PC-0911, PC-0912 and PC-0913R-02-21 BASE BID PC-0912: 713-11 3 INCH TRAFFIC SIGNAL CONDUIT (BORED)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Haskell Lemon Group, LLC	First Offer - \$44.00	200 / linear foot	\$8,800.00		Υ			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
Rudy Construction Co.	First Offer - \$44.00	200 / linear foot	\$8,800.00		Υ			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$48.00	200 / linear foot	\$9,600.00		Y			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$60.00	200 / linear foot	\$12,000.00		Υ			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$69.00	200 / linear foot	\$13,800.00		Y			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
Ellsworth Construction OKC dba Atech Paving	First Offer - \$72.45	200 / linear foot	\$14,490.00		Υ			
Product Code:		Supplier Product Cod	le:					

Agency Notes: Supplier Notes:

PC-0911, PC-0912 and PC-0913R02-22 BASE BID PC-0912: 714-04 5C CONDUCTOR TRAFFIC SIGNAL ELECTRICAL CABLE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Haskell Lemon Group, LLC	First Offer - \$4.75	400 / linear foot	\$1,900.00		Y			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						
Rudy Construction Co.	First Offer - \$4.75	400 / linear foot	\$1,900.00		Y			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$5.00	400 / linear foot	\$2,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$7.00	400 / linear foot	\$2,800.00		Y			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$8.00	400 / linear foot	\$3,200.00		Y			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						
Ellsworth Construction OKC dba Atech Paving	First Offer - \$8.65	400 / linear foot	\$3,460.00		Υ			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

PC-0911, PC-0912 and PC-0913R02-23 BASE BID PC-0912: 714-05 7C CONDUCTOR TRAFFIC SIGNAL ELECTRICAL CABLE								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Haskell Lemon Group, LLC		First Offer - \$5.40	400 / linear foot	\$2,160.00		Υ		
Product Code:			Supplier Product Cod	e:				
Agency Notes:			Supplier Notes:					
Rudy Construction Co.		First Offer - \$5.40	400 / linear foot	\$2,160.00		Υ		
Product Code:			Supplier Product Cod	e:				
Agency Notes:			Supplier Notes:					
T.J. Campbell Construction Co.		First Offer - \$6.00	400 / linear foot	\$2,400.00		Υ		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Atlas Paving Company		First Offer - \$8.00	400 / linear foot	\$3,200.00		Υ		
Product Code:			Supplier Product Cod	e:				
Agency Notes:			Supplier Notes:					
SCHWARZ PAVING CO., INC.		First Offer - \$9.00	400 / linear foot	\$3,600.00		Υ		
Product Code:			Supplier Product Cod	e:				
Agency Notes:			Supplier Notes:					
Ellsworth Construction OKC dba Atech Paving		First Offer - \$9.85	400 / linear foot	\$3,940.00		Υ		
Product Code:			Supplier Product Cod	e:				
Agency Notes:			Supplier Notes:					

PC-0911, PC-0912 and PC-0913R02-24 BASE BID PC-0912: 714-06 10C CONDUCTOR TRAFFIC SIGNAL ELECTRICAL CABLE									
Supplier	Unit Pric	Qty/Unit	Total Price	Attch.	Docs				
Haskell Lemon Group, LLC	First Offer - \$6.70	400 / linear foot	\$2,680.00		Υ				
Product Code:	Supplier Product Cod	le:							
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$6.70	400 / linear foot	\$2,680.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$7.00	400 / linear foot	\$2,800.00		Υ				
Product Code:		Supplier Product Cod	le:						
Agency Notes:		Supplier Notes:							

Atlas Paving Company		First Offer - \$9.00	400 / linear foot	\$3,600.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
SCHWARZ PAVING CO., INC.		First Offer - \$10.00	400 / linear foot	\$4,000.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving		First Offer - \$11.00	400 / linear foot	\$4,400.00		Y	
Product Code:		Supplier Product Code:					
Agency Notes:			Supplier Notes:				

PC-0911, PC-0912 and PC-0913R02-25 BASE BID PC	C-0912:	: 714-07 15C CONDUC	TOR TRAFFIC SIGNAL E	LECTRICAL CABLE			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Haskell Lemon Group, LLC		First Offer - \$8.15	400 / linear foot	\$3,260.00		Υ	
Product Code:			Supplier Product Cod	e:			
Agency Notes:			Supplier Notes:				
Rudy Construction Co.		First Offer - \$8.15	400 / linear foot	\$3,260.00		Υ	
Product Code:			Supplier Product Cod	e:			
Agency Notes:			Supplier Notes:				
T.J. Campbell Construction Co.		First Offer - \$9.00	400 / linear foot	\$3,600.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Atlas Paving Company		First Offer - \$10.00	400 / linear foot	\$4,000.00		Υ	
Product Code:			Supplier Product Cod	e:			
Agency Notes:			Supplier Notes:				
SCHWARZ PAVING CO., INC.		First Offer - \$11.00	400 / linear foot	\$4,400.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving		First Offer - \$12.25	400 / linear foot	\$4,900.00		Y	
Product Code:			Supplier Product Cod	e:			
Agency Notes:			Supplier Notes:				

PC-0911, PC-0912 and PC-0913R02-26 BASE BID PC-0912: 714-08 18C CONDUCTOR TRAFFIC SIGNAL ELECTRICAL CABLE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Haskell Lemon Group, LLC	First Offer - \$9.90	400 / linear foot	\$3,960.00		Υ			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
Rudy Construction Co.	First Offer - \$9.90	400 / linear foot	\$3,960.00		Y			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$11.00	400 / linear foot	\$4,400.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$11.00	400 / linear foot	\$4,400.00		Υ			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$12.00	400 / linear foot	\$4,800.00		Υ			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
Ellsworth Construction OKC dba Atech Paving	First Offer - \$13.50	400 / linear foot	\$5,400.00		Υ			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						

PC-0911, PC-0912 and PC-0913R02-27 BASE BID PC-0912: 714-09 21C CONDUCTOR TRAFFIC SIGNAL ELECTRICAL CABLE							
Supplier Unit Price Qty/Unit Total Price Attch.							
Haskell Lemon Group, LLC	First Offer - \$10.30	400 / linear foot	\$4,120.00		Υ		

Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Rudy Construction Co.		First Offer - \$10.35	400 / linear foot	\$4,140.00		Υ
Product Code:			Supplier Product Cod	e:		
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$11.00	400 / linear foot	\$4,400.00		Y
Product Code:		Supplier Product Code:				
Agency Notes:			Supplier Notes:			
Atlas Paving Company		First Offer - \$12.00	400 / linear foot	\$4,800.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
SCHWARZ PAVING CO., INC.		First Offer - \$13.00	400 / linear foot	\$5,200.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving		First Offer - \$14.65	400 / linear foot	\$5,860.00		Y
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

PC-0911, PC-0912 and PC-0913R02-28 BASE BID PC-0912: 714-10 (1 CONDUCTOR)(AWG NO. 6) ELECTRICAL CONDUCTOR							
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Haskell Lemon Group, LLC		First Offer - \$4.60	400 / linear foot	\$1,840.00		Υ	
Product Code:			Supplier Product Cod	e:			
Agency Notes:			Supplier Notes:				
Rudy Construction Co.		First Offer - \$4.60	400 / linear foot	\$1,840.00		Υ	
Product Code:			Supplier Product Cod	e:			
Agency Notes:			Supplier Notes:				
T.J. Campbell Construction Co.		First Offer - \$5.00	400 / linear foot	\$2,000.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Atlas Paving Company		First Offer - \$5.00	400 / linear foot	\$2,000.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
SCHWARZ PAVING CO., INC.		First Offer - \$6.00	400 / linear foot	\$2,400.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:		Supplier Notes:					
Ellsworth Construction OKC dba Atech Paving		First Offer - \$6.25	400 / linear foot	\$2,500.00		Υ	
Product Code:		Supplier Product Code:					
Agency Notes:			Supplier Notes:				

PC-0911, PC-0912 and PC-0913R02-29 BASE BID PC-0912	2: 714-11 (1 CONDUCT	OR)(AWG NO. 10) ELEC	TRICAL CONDUCTO)R		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company	First Offer - \$3.00	400 / linear foot	\$1,200.00		Υ	
Product Code:		Supplier Product Cod	e:			
Agency Notes:		Supplier Notes:				
Haskell Lemon Group, LLC	First Offer - \$3.40	400 / linear foot	\$1,360.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Rudy Construction Co.	First Offer - \$3.40	400 / linear foot	\$1,360.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$3.50	400 / linear foot	\$1,400.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$3.75	400 / linear foot	\$1,500.00		Y	
Product Code:		Supplier Product Cod	e:			

Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$3.85	400 / linear foot	\$1,540.00	Υ		
Product Code:		Supplier Product Code	e:			
Agency Notes:		Supplier Notes:				

PC-0911, PC-0912 and PC-0913R02-30 BASE BID PC-09	12: 717-03 PEDESTRIAN	SIGNAL HEAD (1 WAY	2 SEC.ADJ SIG. HD. (S-20)		
Supplier	Unit Pri	ce Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company	First Offer - \$815.	00 10 / each	\$8,150.00		Υ	
		Supplier Product	Code:			
Agency Notes:	T 1	Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$950.	00 10 / each	\$9,500.00		Y	
Product Code:	Supplier Product	Code:				
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$986.	55 10 / each	\$9,865.50		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Haskell Lemon Group, LLC	First Offer - \$1,100.	00 10 / each	\$11,000.00		Υ	
Product Code:		Supplier Product	Supplier Product Code:			
Agency Notes:		Supplier Notes:				
Rudy Construction Co.	First Offer - \$1,100.	00 10 / each	\$11,000.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$1,200.	00 10 / each	\$12,000.00		Υ	
Product Code:		Supplier Product	Code:			
Agency Notes:		Supplier Notes:				

PC-0911, PC-0912 and PC-0913R-02-31 BASE BID PC-0912: 722-00 PEDESTRIAN PUSH BUTTON AND SIGN						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Haskell Lemon Group, LLC	First Offer - \$1,115.00	18 / each	\$20,070.00		Υ	
Product Code:		Supplier Product C	Code:			
Agency Notes:		Supplier Notes:				
Rudy Construction Co.	First Offer - \$1,115.00	18 / each	\$20,070.00		Υ	
Product Code:		Supplier Product C	Code:			
Agency Notes:		Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$1,200.00	18 / each	\$21,600.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Atlas Paving Company	First Offer - \$1,310.00	18 / each	\$23,580.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$1,500.00	18 / each	\$27,000.00		Y	
Product Code:		Supplier Product C	Code:			
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$1,576.75	18 / each	\$28,381.50		Υ	
Product Code:		Supplier Product C	Code:			
Agency Notes:		Supplier Notes:				

PC-0911, PC-0912 and PC-0913R02-32 BASE BID PC-0912: 722-03 PEDESTRIAN PUSH BUTTON- CENTRAL CONTROL UNIT									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company	First Offer - \$4,950.00	3 / each	\$14,850.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$5,215.00	3 / each	\$15,645.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

Rudy Construction Co.	First Offer - \$5,215.00	3 / each	\$15,645.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$5,500.00	3 / each	\$16,500.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$5,700.00	3 / each	\$17,100.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$5,968.50	3 / each	\$17,905.50	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

PC-0911, PC-0912 and PC-0913R02-33 BASE BID PC	-0912	: 724-67 PEDESTAL POLI	W/5 FOOT MOUNT	ING HEIGHT		
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company		First Offer - \$1,500.00	8 / each	\$12,000.00		Υ
			Supplier Product (Supplier Notes:	Code:		
Haskell Lemon Group, LLC		First Offer - \$1,530.00	8 / each	\$12,240.00		Υ
			Supplier Product C Supplier Notes:	Code:		
Rudy Construction Co.		First Offer - \$1,530.00	8 / each	\$12,240.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$1,700.00	8 / each	\$13,600.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.		First Offer - \$1,800.00	8 / each	\$14,400.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba Atech Paving		First Offer - \$1,810.75	8 / each	\$14,486.00		Υ
		Supplier Product (Supplier Notes:	Code:			

PC-0911, PC-0912 and PC-0913R02-34 BASE BID PC-0912: 724-68 PEDESTAL POLE W/10 FOOT MOUNTING HEIGHT								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$1,700.00	8 / each	\$13,600.00		Υ			
		Supplier Product (Supplier Notes:	Code:					
Haskell Lemon Group, LLC	First Offer - \$1,705.00	8 / each	\$13,640.00		Y			
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:						
T.J. Campbell Construction Co.	First Offer - \$1,800.00	8 / each	\$14,400.00		Υ			
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:					
Atlas Paving Company	First Offer - \$1,800.00	8 / each	\$14,400.00		Υ			
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:					
SCHWARZ PAVING CO., INC.	First Offer - \$2,100.00	8 / each	\$16,800.00		Υ			
		Supplier Product (Supplier Notes:	Code:					
Ellsworth Construction OKC dba Atech Paving	First Offer - \$2,170.75	8 / each	\$17,366.00		Υ			
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:					

PC-0911, PC-0912 and PC-0913R02-35 BASE BID PC-0912	2: 726-00 PULL BOX TYPE	I				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company	First Offer - \$1,215.00	2 / each	\$2,430.00		Υ	
Product Code:		Supplier Product C	ode:			
Agency Notes:		Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$1,400.00	2 / each	\$2,800.00		Υ	
Product Code:		Supplier Product C	ode:			
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$1,500.75	2 / each	\$3,001.50		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Haskell Lemon Group, LLC	First Offer - \$2,600.00	2 / each	\$5,200.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Rudy Construction Co.	First Offer - \$2,600.00	2 / each	\$5,200.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$2,800.00	2 / each	\$5,600.00		Υ	
Product Code:		Supplier Product C	Code:			
Agency Notes:		Supplier Notes:				

PC-0911, PC-0912 and PC-0913R02-36 BASE BID PC-0912: 726-01 PULL BOX TYPE II										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Atlas Paving Company	First Offer - \$1,500.00	2 / each	\$3,000.00		Υ					
		Supplier Product (Supplier Notes:	Code:							
SCHWARZ PAVING CO., INC.	First Offer - \$1,700.00	2 / each	\$3,400.00		Υ					
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:								
Ellsworth Construction OKC dba Atech Paving	First Offer - \$1,842.75	2 / each	\$3,685.50		Υ					
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:							
Haskell Lemon Group, LLC	First Offer - \$2,750.00	2 / each	\$5,500.00		Υ					
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:							
Rudy Construction Co.	First Offer - \$2,750.00	2 / each	\$5,500.00		Υ					
		Supplier Product (Supplier Notes:	Code:							
T.J. Campbell Construction Co.	First Offer - \$3,000.00	2 / each	\$6,000.00		Υ					
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:							

PC-0911, PC-0912 and PC-0913R02-37 BASE BID PC-0912: 726-04 PULL BOX ADJUSTMENT										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Haskell Lemon Group, LLC	First Offer - \$1,050.00	2 / each	\$2,100.00		Υ					
Product Code:		Supplier Product (Code:							
Agency Notes:		Supplier Notes:								
Rudy Construction Co.	First Offer - \$1,050.00	2 / each	\$2,100.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
T.J. Campbell Construction Co.	First Offer - \$1,100.00	2 / each	\$2,200.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Atlas Paving Company	First Offer - \$1,750.00	2 / each	\$3,500.00		Y					
Product Code:		Supplier Product (Code:							

Agency Notes:		Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$2,000.00	2 / each	\$4,000.00	Υ		
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$2,142.75	2 / each	\$4,285.50	Υ		
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

PC-0911, PC-0912 and PC-0913R02-38 BASE BID PC-0	0912:	729-09 INSTALL AND RI	EMOVE PROJECT SIG	iN		
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company		First Offer - \$650.00	1 / each	\$650.00		Υ
			Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba Atech Paving		First Offer - \$685.50	1 / each	\$685.50		Υ
			Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co.		First Offer - \$750.00	1 / each	\$750.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.		First Offer - \$1,000.00	1 / each	\$1,000.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Haskell Lemon Group, LLC		First Offer - \$1,485.00	1 / each	\$1,485.00		Υ
Product Code:			Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.		First Offer - \$1,800.00	1 / each	\$1,800.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		

PC-0911, PC-0912 and PC-0913R02-39 BASE BID PC-0912: 729-10 REMOVE AND RELOCATE SIGN									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company	First Offer - \$150.00	1 / each	\$150.00		Υ				
Product Code:		Supplier Product C	ode:						
Agency Notes:		Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$250.00	1 / each	\$250.00		Y				
Product Code:		Supplier Product C	ode:						
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$300.00	1 / each	\$300.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$725.00	1 / each	\$725.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$950.00	1 / each	\$950.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba Atech Paving	First Offer - \$985.50	1 / each	\$985.50		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

PC-0911, PC-0912 and PC-0913R02-40 BASE BID PC-0912: 735-00 TRAFFIC STRIPE (4 INCH WIDE)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company	First Offer - \$0.95	14300 / linear foot	\$13,585.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

T.J. Campbell Construction Co.	First Offer - \$1.00	14300 / linear foot	\$14,300.00	Υ		
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Rudy Construction Co.	First Offer - \$1.05	14300 / linear foot	\$15,015.00	Y		
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$1.10	14300 / linear foot	\$15,730.00	Y		
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$1.25	14300 / linear foot	\$17,875.00	Υ		
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Haskell Lemon Group, LLC	First Offer - \$1.50	14300 / linear foot	\$21,450.00	Υ		
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

PC-0911, PC-0912 and PC-0913R02-41 BASE BID PC-0912	: 735-01 TRAFFIC STRIPE	(ARROWS) (SINGLE	i)		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company	First Offer - \$125.00	16 / each	\$2,000.00		Y
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$138.00	16 / each	\$2,208.00		Y
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$140.00	16 / each	\$2,240.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$245.35	16 / each	\$3,925.60		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$550.00	16 / each	\$8,800.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$703.50	16 / each	\$11,256.00		Y
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			

PC-0911, PC-0912 and PC-0913R02-42 BASE BID PC	C-0912:	735-07 TRAFFIC STRI	PE (8 INCH WIDE)			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Doc
Atlas Paving Company		First Offer - \$2.00	500 / linear foot	\$1,000.00		Υ
			Supplier Product Code Supplier Notes:	e:		
SCHWARZ PAVING CO., INC.		First Offer - \$2.00	500 / linear foot	\$1,000.00		Υ
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:		
Rudy Construction Co.		First Offer - \$2.20	500 / linear foot	\$1,100.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving		First Offer - \$2.60	500 / linear foot	\$1,300.00		Υ
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:		
T.J. Campbell Construction Co.		First Offer - \$4.00	500 / linear foot	\$2,000.00		Υ
			Supplier Product Code Supplier Notes:	e:		
Haskell Lemon Group, LLC		First Offer - \$5.10	500 / linear foot	\$2,550.00		Υ

Product Code:
Agency Notes:

Supplier Product Code:
Supplier Notes:

PC-0911, PC-0912 and PC-0913R02-43 BASE BID PC	:-0912: 735-09 TRAFFIC STR	IPE (24 INCH WIDE)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ellsworth Construction OKC dba Atech Paving	First Offer - \$6.10	1250 / linear foot	\$7,625.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
T.J. Campbell Construction Co.	First Offer - \$10.00	1250 / linear foot	\$12,500.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Atlas Paving Company	First Offer - \$10.00	1250 / linear foot	\$12,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
Rudy Construction Co.	First Offer - \$11.00	1250 / linear foot	\$13,750.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
SCHWARZ PAVING CO., INC.	First Offer - \$12.00	1250 / linear foot	\$15,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Haskell Lemon Group, LLC	First Offer - \$13.30	1250 / linear foot	\$16,625.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		

PC-0911, PC-0912 and PC-0913R02-44 BASE BID PC-0912: 738-08 REMOVE TRAFFIC MARKING (4 INCH WIDE STRIPE)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Atlas Paving Company	First Offer - \$0.25	600 / linear foot	\$150.00		Υ					
Product Code:	Supplier Product Code	e:								
Agency Notes:		Supplier Notes:								
Rudy Construction Co.	First Offer - \$2.00	600 / linear foot	\$1,200.00		Υ					
Product Code:		Supplier Product Code	e:							
Agency Notes:		Supplier Notes:								
SCHWARZ PAVING CO., INC.	First Offer - \$2.00	600 / linear foot	\$1,200.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Ellsworth Construction OKC dba Atech Paving	First Offer - \$2.55	600 / linear foot	\$1,530.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
T.J. Campbell Construction Co.	First Offer - \$3.75	600 / linear foot	\$2,250.00		Υ					
Product Code:		Supplier Product Code	e:							
Agency Notes:		Supplier Notes:								
Haskell Lemon Group, LLC	First Offer - \$4.85	600 / linear foot	\$2,910.00		Υ					
Product Code:		Supplier Product Code	e:							
Agency Notes:		Supplier Notes:								

PC-0911, PC-0912 and PC-0913R02-45 BASE BID PC-0912: 738-08 REMOVE TRAFFIC MARKING (24 INCH WIDE STRIPE)										
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company		First Offer - \$0.50	200 / linear foot	\$100.00		Y				
Product Code:		Supplier Product Cod	le:							
Agency Notes:			Supplier Notes:							
Rudy Construction Co.		First Offer - \$4.00	200 / linear foot	\$800.00		Y				
Product Code:			Supplier Product Code:							
Agency Notes:			Supplier Notes:							
SCHWARZ PAVING CO., INC.		First Offer - \$4.00	200 / linear foot	\$800.00		Y				
Product Code:			Supplier Product Cod	le:						

Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$4.05	200 / linear foot	\$810.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$15.00	200 / linear foot	\$3,000.00		Υ
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$19.50	200 / linear foot	\$3,900.00		Υ
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			

PC-0911, PC-0912 and PC-0913R02-46 BASE BID PC-0912: 738-08 REMOVE TRAFFIC MARKING (ARROWS)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company	First Offer - \$25.00	5 / each	\$125.00		Y		
Product Code:		Supplier Product C	ode:				
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$75.00	5 / each	\$375.00		Y		
Product Code:		Supplier Product C	Code:				
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$90.00	5 / each	\$450.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Haskell Lemon Group, LLC	First Offer - \$125.00	5 / each	\$625.00		Y		
Product Code:		Supplier Product C	ode:				
Agency Notes:		Supplier Notes:					
Ellsworth Construction OKC dba Atech Paving	First Offer - \$137.10	5 / each	\$685.50		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Rudy Construction Co.	First Offer - \$150.00	5 / each	\$750.00		Y		
Product Code:		Supplier Product C	ode:				
Agency Notes:		Supplier Notes:					

PC-0911, PC-0912 and PC-0913R02-47 BASE BID PC-0912	2: 745-01 RADAR DETECTIO	ON SYSTEM (ADVAN	ICE SENSORS)		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company	First Offer - \$8,245.00	10 / each	\$82,450.00		Υ
		Supplier Product (Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.	First Offer - \$9,500.00	10 / each	\$95,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$9,902.55	10 / each	\$99,025.50		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	pplier Product Code:		
Haskell Lemon Group, LLC	First Offer - \$10,260.00	10 / each	\$102,600.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co.	First Offer - \$10,300.00	10 / each	\$103,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$11,000.00	10 / each	\$110,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PC-0911, PC-0912 and PC-0913R02-48 BASE BID PC-0912: 745-02 RADAR DETECTION SYSTEM (PRESENCE SENSORS)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			

Atlas Paving Company	First Offer - \$8,200.00	10 / each	\$82,000.00	Y	
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$9,500.00	10 / each	\$95,000.00	Υ	
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$9,848.55	10 / each	\$98,485.50	Υ	
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$10,480.00	10 / each	\$104,800.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$10,500.00	10 / each	\$105,000.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$11,500.00	10 / each	\$115,000.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

PC-0911, PC-0912 and PC-0913R02-49 BASE BID PC-0912: 745-04 RADAR CABINET INTERFACE (CLICK 656 OR NEWEST MODEL)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company	First Offer - \$7,500.00	5 / each	\$37,500.00		Υ			
		Supplier Product Code: Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$8,600.00	5 / each	\$43,000.00		Y			
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:					
Ellsworth Construction OKC dba Atech Paving	First Offer - \$9,017.10	5 / each	\$45,085.50		Υ			
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:					
Haskell Lemon Group, LLC	First Offer - \$10,495.00	5 / each	\$52,475.00		Υ			
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:					
Rudy Construction Co.	First Offer - \$10,500.00	5 / each	\$52,500.00		Υ			
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:					
T.J. Campbell Construction Co.	First Offer - \$11,500.00	5 / each	\$57,500.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:					

PC-0911, PC-0912 and PC-0913R02-50 BASE BID PC-0912: 745-05 RADAR DETECTOR CABLE							
Supplier	Unit Pric	e Qty/Unit	Total Price	Attch.	Docs		
Haskell Lemon Group, LLC	First Offer - \$3.00	4500 / linear foot	\$13,500.00		Υ		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	: :				
Rudy Construction Co.	First Offer - \$3.00	4500 / linear foot	\$13,500.00		Υ		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:				
T.J. Campbell Construction Co.	First Offer - \$3.25	4500 / linear foot	\$14,625.00		Υ		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:				
Atlas Paving Company	First Offer - \$5.00	4500 / linear foot	\$22,500.00		Υ		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	: :				
SCHWARZ PAVING CO., INC.	First Offer - \$6.00	4500 / linear foot	\$27,000.00		Υ		

Product Code:		Supplier Product Code:				
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving		First Offer - \$6.05	4500 / linear foot	\$27,225.00		Υ
Product Code:			Supplier Product Code	:		
Agency Notes:			Supplier Notes:			

PC-0911, PC-0912 and PC-0913R02-51 BASE BID PC-0912: 745-06 SWITCH FOR EXISTING TRAFFIC CONTROL CABINET								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company	First Offer - \$1,995.00	3 / each	\$5,985.00		Υ			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$2,365.00	3 / each	\$7,095.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Rudy Construction Co.	First Offer - \$2,370.00	3 / each	\$7,110.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$2,400.00	3 / each	\$7,200.00		Υ			
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:					
Ellsworth Construction OKC dba Atech Paving	First Offer - \$2,422.50	3 / each	\$7,267.50		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:					
SCHWARZ PAVING CO., INC.	First Offer - \$2,500.00	3 / each	\$7,500.00		Y			
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:					

PC-0911, PC-0912 and PC-0913R-02-52 BASE BID PC-091	12: 809-00 MOBILIZATION				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company	First Offer - \$64,000.00	1 / lump sum	\$64,000.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$83,185.00	1 / lump sum	\$83,185.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co.	First Offer - \$83,540.00	1 / lump sum	\$83,540.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Haskell Lemon Group, LLC	First Offer - \$90,000.00	1 / lump sum	\$90,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.	First Offer - \$90,000.00	1 / lump sum	\$90,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$106,000.00	1 / lump sum	\$106,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PC-0911, PC-0912 and PC-0913R02-53 BASE BID PC-0912: 812-01 REMOVE SIDEWALK									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.		First Offer - \$10.00	100 / square yard	\$1,000.00		Υ			
Product Code:			Supplier Product Code	:					
Agency Notes:			Supplier Notes:						
Haskell Lemon Group, LLC		First Offer - \$11.00	100 / square yard	\$1,100.00		Υ			
Product Code:			Supplier Product Code	:					

Agency Notes:		Supplier Notes:		
Atlas Paving Company	First Offer - \$15.00	100 / square yard	\$1,500.00	Y
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$15.00	100 / square yard	\$1,500.00	Υ
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC.	First Offer - \$30.00	100 / square yard	\$3,000.00	Υ
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		
T.J. Campbell Construction Co.	First Offer - \$45.00	100 / square yard	\$4,500.00	Υ
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		

PC-0911, PC-0912 and PC-0913R02-54 BASE BID PC-0912: 812-02 REMOVE CURB AND GUTTER									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$10.00	1400 / linear foot	\$14,000.00		Υ				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$11.00	1400 / linear foot	\$15,400.00		Y				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
Atlas Paving Company	First Offer - \$12.00	1400 / linear foot	\$16,800.00		Υ				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba Atech Paving	First Offer - \$12.00	1400 / linear foot	\$16,800.00		Υ				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$18.00	1400 / linear foot	\$25,200.00		Υ				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$26.00	1400 / linear foot	\$36,400.00		Υ				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							

PC-0911, PC-0912 and PC-0913R-02-55 BASE BID PC-0912: 812-21 STRUCTURAL REMOVAL SIGNAL POLE AND SIGNAL POLE FOUNDATION									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company	First Offer - \$4,785.00	2 / each	\$9,570.00		Υ				
Product Code:		Supplier Product C	Code:						
Agency Notes:		Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$5,500.00	2 / each	\$11,000.00		Y				
Product Code:		Supplier Product C	Code:						
Agency Notes:		Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$5,750.00	2 / each	\$11,500.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$5,750.00	2 / each	\$11,500.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$6,300.00	2 / each	\$12,600.00		Y				
Product Code:		Supplier Product C	Code:						
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba Atech Paving	First Offer - \$7,700.00	2 / each	\$15,400.00		Y				
Product Code:		Supplier Product C	Code:						
Agency Notes:		Supplier Notes:							

PC-0911, PC-0912 and PC-0913R02-56 BASE BID PC-0912: 813-00 REMOVE DRIVEWAY									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$10.00	500 / square yard	\$5,000.00		Υ				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$11.00	500 / square yard	\$5,500.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:						
Ellsworth Construction OKC dba Atech Paving	First Offer - \$13.75	500 / square yard	\$6,875.00		Υ				
Product Code:	First Offer - \$13.73	<u> </u>			•				
Agency Notes:		Supplier Product Code: Supplier Notes:	•						
Atlas Paving Company	First Offer - \$15.00	500 / square yard	\$7,500.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$15.00	500 / square yard	\$7,500.00		Υ				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$34.00	500 / square yard	\$17,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:						

PC-0911, PC-0912 and PC-0913R02-57 BASE BID PC-0912: 818-05 PAVEMENT REPAIR (9 INCHES)									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.		First Offer - \$85.00	1000 / square yard	\$85,000.00		Υ			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Atlas Paving Company		First Offer - \$100.00	1000 / square yard	\$100,000.00		Y			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
SCHWARZ PAVING CO., INC.		First Offer - \$100.00	1000 / square yard	\$100,000.00		Y			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Ellsworth Construction OKC dba Atech Paving		First Offer - \$115.00	1000 / square yard	\$115,000.00		Y			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
T.J. Campbell Construction Co.		First Offer - \$150.00	1000 / square yard	\$150,000.00		Y			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Haskell Lemon Group, LLC		First Offer - \$216.50	1000 / square yard	\$216,500.00		Y			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						

PC-0911, PC-0912 and PC-0913R02-58 BASE BID PC-0912: 819-03 ADJUST EXISTING STRUCTURE (2-4 INLET REPAIR)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Haskell Lemon Group, LLC	First Offer - \$1,100.00	6 / each	\$6,600.00		Y					
Product Code:	Supplier Product 0	Code:								
Agency Notes:		Supplier Notes:								
Ellsworth Construction OKC dba Atech Paving	First Offer - \$2,000.00	6 / each	\$12,000.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
T.J. Campbell Construction Co.	First Offer - \$2,800.00	6 / each	\$16,800.00		Y					
Product Code:	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
SCHWARZ PAVING CO., INC.	First Offer - \$3,500.00	6 / each	\$21,000.00		Υ					

		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$4,500.00	6 / each	\$27,000.00	Υ	
		Supplier Product Code: Supplier Notes:			
Atlas Paving Company	First Offer - \$6,000.00		\$36,000.00	Υ	
Product Code: Agency Notes:	,	Supplier Product (Supplier Notes:	Code:		

PC-0911, PC-0912 and PC-0913R02-59 BASE BID PC-0912: 819-20 STORM SEWER CAST GRATE & FRAME REPLACEMENT									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Haskell Lemon Group, LLC	First Offer - \$330.00	5 / each	\$1,650.00		Υ				
Product Code:		Supplier Product C	ode:						
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba Atech Paving	First Offer - \$500.00	5 / each	\$2,500.00		Y				
Product Code:		Supplier Product C	ode:						
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$550.00	5 / each	\$2,750.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$600.00	5 / each	\$3,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$625.00	5 / each	\$3,125.00		Y				
Product Code:		Supplier Product C	Code:						
Agency Notes:		Supplier Notes:							
Atlas Paving Company	First Offer - \$1,000.00	5 / each	\$5,000.00		Y				
Product Code:		Supplier Product C	ode:						
Agency Notes:		Supplier Notes:							

PC-0911, PC-0912 and PC-0913R02-60 BASE BID PC-0912: 823-00 SIDEWALK										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Atlas Paving Company	First Offer - \$50.00	500 / square yard	\$25,000.00		Υ					
		Supplier Product Code: Supplier Notes:								
Ellsworth Construction OKC dba Atech Paving	First Offer - \$65.00	500 / square yard	\$32,500.00		Y					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
Haskell Lemon Group, LLC	First Offer - \$68.50	500 / square yard	\$34,250.00		Υ					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
SCHWARZ PAVING CO., INC.	First Offer - \$70.00	500 / square yard	\$35,000.00		Υ					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
T.J. Campbell Construction Co.	First Offer - \$85.00	500 / square yard	\$42,500.00		Υ					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
Rudy Construction Co.	First Offer - \$90.00	500 / square yard	\$45,000.00		Υ					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								

PC-0911, PC-0912 and PC-0913R02-61 BASE BID PC-0912: 823-11 8 INCH P.C. CONC. DRIVEWAY (3000 PSI HES)									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company		First Offer - \$80.00	500 / square yard	\$40,000.00		Υ			
Product Code:			Supplier Product Code	:					

Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$85.00	500 / square yard	\$42,500.00	Y	
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$105.00	500 / square yard	\$52,500.00	Y	
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$120.00	500 / square yard	\$60,000.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$125.00	500 / square yard	\$62,500.00	Υ	
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$125.00	500 / square yard	\$62,500.00	Υ	
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			

PC-0911, PC-0912 and PC-0913R02-62 BASE BID PC-0912: 830-04 TACTILE MARKERS/TRUNCATED DOMES									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
T.J. Campbell Construction Co.	First Offer - \$31.00	180 / square foot	\$5,580.00		Υ				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$33.00	180 / square foot	\$5,940.00		Y				
Product Code:		Supplier Product Code	2:						
Agency Notes:		Supplier Notes:							
Atlas Paving Company	First Offer - \$35.00	180 / square foot	\$6,300.00		Y				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$35.00	180 / square foot	\$6,300.00		Y				
Product Code:		Supplier Product Code	2:						
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba Atech Paving	First Offer - \$40.00	180 / square foot	\$7,200.00		Υ				
Product Code:		Supplier Product Code	: :						
Agency Notes:		Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$45.00	180 / square foot	\$8,100.00		Y				
Product Code:		Supplier Product Code	2:						
Agency Notes:		Supplier Notes:							

PC-0911, PC-0912 and PC-0913R02-63 BASE BID PC-0912: 830-09 ADA CURB RAMP (8 INCHES)									
	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
	First Offer - \$110.00	144 / square yard	\$15,840.00		Υ				
		Supplier Product Code Supplier Notes:	:						
	First Offer - \$134.00	144 / square yard	\$19,296.00		Υ				
		Supplier Product Code Supplier Notes:	:						
	First Offer - \$150.00	144 / square yard	\$21,600.00		Υ				
		Supplier Product Code Supplier Notes:	:						
	First Offer - \$155.00	144 / square yard	\$22,320.00		Υ				
		Supplier Product Code Supplier Notes:	:						
	First Offer - \$200.00	144 / square yard	\$28,800.00		Υ				
		Supplier Product Code Supplier Notes:	:						
		First Offer - \$110.00 First Offer - \$134.00 First Offer - \$150.00 First Offer - \$155.00	First Offer - \$110.00 Supplier Product Code Supplier Notes: First Offer - \$134.00 Supplier Product Code Supplier Product Code Supplier Notes: First Offer - \$150.00 First Offer - \$150.00 Supplier Product Code Supplier Notes: First Offer - \$155.00 144 / square yard Supplier Product Code Supplier Notes: First Offer - \$200.00 First Offer - \$200.00 144 / square yard Supplier Product Code Supplier Notes:	First Offer - \$110.00	First Offer - \$110.00				

T.J. Campbell Construction Co.	First	t Offer -	\$280.00	144 / square yard	\$40,320.00	Υ
Product Code:				Supplier Product Code	:	
Agency Notes:				Supplier Notes:		

	840-00 SOLID SLAB						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
T.J. Campbell Construction Co.		First Offer - \$4.25	300 / square yard	\$1,275.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Rudy Construction Co.		First Offer - \$6.00	300 / square yard	\$1,800.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving		First Offer - \$7.00	300 / square yard	\$2,100.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Atlas Paving Company		First Offer - \$8.00	300 / square yard	\$2,400.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
SCHWARZ PAVING CO., INC.		First Offer - \$8.00	300 / square yard	\$2,400.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Haskell Lemon Group, LLC		First Offer - \$8.25	300 / square yard	\$2,475.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				

PC-0911, PC-0912 and PC-0913R03-01 BASE BID PC-0913: 220-02 PROOF ROLLING										
Supplier		Unit Pri	ce	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company		First Offer - \$0.0	1	19500 / square yard	\$195.00		Υ			
Product Code:				Supplier Product Code:						
Agency Notes:				Supplier Notes:						
T.J. Campbell Construction Co.		First Offer - \$0.1	0	19500 / square yard	\$1,950.00		Y			
Product Code:				Supplier Product Code:						
Agency Notes:				Supplier Notes:						
Rudy Construction Co.		First Offer - \$0.1	5	19500 / square yard	\$2,925.00		Υ			
Product Code:				Supplier Product Code:						
Agency Notes:				Supplier Notes:						
SCHWARZ PAVING CO., INC.		First Offer - \$0.2	:0	19500 / square yard	\$3,900.00		Y			
Product Code:				Supplier Product Code:						
Agency Notes:				Supplier Notes:						
Haskell Lemon Group, LLC		First Offer - \$0.3	0	19500 / square yard	\$5,850.00		Υ			
Product Code:				Supplier Product Code:						
Agency Notes:				Supplier Notes:						
Ellsworth Construction OKC dba Atech Paving		First Offer - \$0.5	0	19500 / square yard	\$9,750.00		Υ			
Product Code:				Supplier Product Code:						
Agency Notes:				Supplier Notes:						

PC-0911, PC-0912 and PC-0913R03-02 BASE BID PC-0913: 301-39 SUPERPAVE TYPE S5 (PG 70-28 OK)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Ellsworth Construction OKC dba Atech Paving	First Offer - \$126.25	2600 / ton	\$328,250.00		Υ					
Product Code:	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
Atlas Paving Company	First Offer - \$135.00	2600 / ton	\$351,000.00		Υ					
Product Code:		Supplier Product C	ode:							
Agency Notes:		Supplier Notes:								
SCHWARZ PAVING CO., INC.	First Offer - \$135.00	2600 / ton	\$351,000.00		Υ					

	Supplier Product C	ode:				
	Supplier Notes:					
First Offer - \$145.00	2600 / ton	\$377,000.00	Υ			
	Supplier Product C	ode:				
	Supplier Notes:					
First Offer - \$145.00	2600 / ton	\$377,000.00	Υ			
	Supplier Product C	ode:				
	Supplier Notes:					
First Offer - \$170.00	2600 / ton	\$442,000.00	Υ			
Product Code:			Supplier Product Code:			
	Supplier Notes:					
	First Offer - \$145.00	Supplier Notes: First Offer - \$145.00 2600 / ton Supplier Product C Supplier Notes: First Offer - \$145.00 2600 / ton Supplier Product C Supplier Notes: First Offer - \$170.00 2600 / ton Supplier Product C Supplier Product C	First Offer - \$145.00 2600 / ton \$377,000.00 Supplier Product Code: Supplier Notes: First Offer - \$145.00 2600 / ton \$377,000.00 Supplier Product Code: Supplier Notes: First Offer - \$170.00 2600 / ton \$442,000.00 Supplier Product Code:			

PC-0911, PC-0912 and PC-0913R03-03 BASE BID PC-0)913: 301-39 SUPERPAVE TYF	PE S6 (PG 70-28 OK) (crack filling		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$200.00	10 / ton	\$2,000.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$335.00	10 / ton	\$3,350.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Atlas Paving Company	First Offer - \$500.00	10 / ton	\$5,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Haskell Lemon Group, LLC	First Offer - \$500.00	10 / ton	\$5,000.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$600.00	10 / ton	\$6,000.00		Υ
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	ode:			
SCHWARZ PAVING CO., INC.	First Offer - \$650.00	10 / ton	\$6,500.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

PC-0911, PC-0912 and PC-0913R03-04 BASE BID PC-0913: 304-07 P. C. CONC. PAVEMENT (8 INCHES) (DOWELL JOINTED) (4000 PSI HES)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$95.45	275 / square yard	\$26,248.75		Υ			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
Haskell Lemon Group, LLC	First Offer - \$101.00	275 / square yard	\$27,775.00		Y			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
Rudy Construction Co.	First Offer - \$105.00	275 / square yard	\$28,875.00		Y			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$115.00	275 / square yard	\$31,625.00		Υ			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$120.00	275 / square yard	\$33,000.00		Υ			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$240.00	275 / square yard	\$66,000.00		Υ			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						

PC-0911, PC-0912 and PC-0913R03-05 BASE BID PC-0913: 305-00 CURB AND GUTTER (ALL TYPES)	
---	--

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Haskell Lemon Group, LLC	First Offer - \$30.00	300 / linear foot	\$9,000.00		Y
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$35.00	300 / linear foot	\$10,500.00		Y
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
Atlas Paving Company	First Offer - \$40.00	300 / linear foot	\$12,000.00		Y
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$40.00	300 / linear foot	\$12,000.00		Y
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$45.00	300 / linear foot	\$13,500.00		Y
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$55.00	300 / linear foot	\$16,500.00		Υ
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			

PC-0911, PC-0912 and PC-0913R03-06 BASE BID PC-0913: 309-12 COLD MILLING PAVEMENT (ASPH. UP TO 4 INCHES)(FINE MILL)									
Supplier	Uı	nit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer	- \$2.85	19500 / square yard	\$55,575.00		Υ			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Ellsworth Construction OKC dba Atech Paving	First Offer	- \$3.25	19500 / square yard	\$63,375.00		Y			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
T.J. Campbell Construction Co.	First Offer	- \$4.00	19500 / square yard	\$78,000.00		Υ			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer	- \$5.00	19500 / square yard	\$97,500.00		Υ			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Haskell Lemon Group, LLC	First Offer	- \$5.25	19500 / square yard	\$102,375.00		Υ			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Atlas Paving Company	First Offer	- \$6.00	19500 / square yard	\$117,000.00		Y			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						

PC-0911, PC-0912 and PC-0913R03-07 BASE BID PC-0913: 310-05 CLEANING AND SEALING P.C. CONCRETE JOINTS									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Ellsworth Construction OKC dba Atech Paving		First Offer - \$2.70	9100 / linear foot	\$24,570.00		Υ			
		Supplier Product Code: Supplier Notes:							
Atlas Paving Company		First Offer - \$3.00	9100 / linear foot	\$27,300.00		Υ			
Product Code:			Supplier Product Code	:					
Agency Notes:			Supplier Notes:						
Haskell Lemon Group, LLC		First Offer - \$3.30	9100 / linear foot	\$30,030.00		Υ			
Product Code:			Supplier Product Code	:					
Agency Notes:			Supplier Notes:						
Rudy Construction Co.		First Offer - \$4.00	9100 / linear foot	\$36,400.00		Υ			
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:					
- · · · · · · · · · · · · · · · · · · ·									

SCHWARZ PAVING CO., INC.	First Offer - \$4.00	9100 / linear foot	\$36,400.00	Υ	
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$4.10	9100 / linear foot	\$37,310.00	Y	
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			

PC-0911, PC-0912 and PC-0913R03-08 BASE BID PC-0913: 310-06 CLEANING AND SEALING P.C. CONCRETE CRACKS									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company	First Offer - \$3.00	3200 / linear foot	\$9,600.00		Υ				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba Atech Paving	First Offer - \$3.00	3200 / linear foot	\$9,600.00		Y				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$3.30	3200 / linear foot	\$10,560.00		Υ				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$4.00	3200 / linear foot	\$12,800.00		Υ				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$4.00	3200 / linear foot	\$12,800.00		Υ				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$4.10	3200 / linear foot	\$13,120.00		Υ				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							

PC-0911, PC-0912 and PC-0913R03-09 BASE BID PC-0913: 313-01 TACK COAT (ULTRA TACK)									
Supplier		Unit Price	Qty/Unit	Total Pric	e Attch.	Docs			
SCHWARZ PAVING CO., INC.		First Offer - \$5.00	1950 / gallon	\$9,750.00)	Y			
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	ode:					
Haskell Lemon Group, LLC		First Offer - \$5.50	1950 / gallon	\$10,725.00)	Y			
			Supplier Product C Supplier Notes:	ode:					
Atlas Paving Company		First Offer - \$6.00	1950 / gallon	\$11,700.00)	Y			
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:						
T.J. Campbell Construction Co.		First Offer - \$6.50	1950 / gallon	\$12,675.00)	Y			
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	ode:					
Ellsworth Construction OKC dba Atech Paving		First Offer - \$6.50	1950 / gallon	\$12,675.00)	Y			
			Supplier Product C Supplier Notes:	ode:		·			
Rudy Construction Co.		First Offer - \$9.00	1950 / gallon	\$17,550.00)	Y			
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	ode:					

PC-0911, PC-0912 and PC-0913R03-10 BASE BID PC-0913: 459-01 ADJUST MANHOLE TO GRADE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$700.00	2 / each	\$1,400.00		Υ				
Product Code:		Supplier Product (Code:						
		Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$775.00	2 / each	\$1,550.00		Υ				

Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$800.00	2 / each	\$1,600.00	Υ	
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$1,500.00	2 / each	\$3,000.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Atlas Paving Company	First Offer - \$1,500.00	2 / each	\$3,000.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$1,500.00	2 / each	\$3,000.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

PC-0911, PC-0912 and PC-0913R03-11 BASE BID PC-09	13: 460-00 PROVIDE AND S	ET NEW MANHOLE	RING AND COVER		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Haskell Lemon Group, LLC	First Offer - \$715.00	2 / each	\$1,430.00		Υ
Product Code: Agency Notes:	Supplier Product C Supplier Notes:	Code:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$850.00	2 / each	\$1,700.00		Υ
Product Code: Agency Notes:	Supplier Product C Supplier Notes:	Code:			
Rudy Construction Co.	First Offer - \$875.00	2 / each	\$1,750.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Atlas Paving Company	First Offer - \$1,500.00	2 / each	\$3,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$1,900.00	2 / each	\$3,800.00		Υ
Product Code: Agency Notes:	Supplier Product C Supplier Notes:	Code:			
SCHWARZ PAVING CO., INC.	First Offer - \$2,000.00	2 / each	\$4,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		

PC-0911, PC-0912 and PC-0913R-03-12 BASE BID PC-0913: 520-03 VALVE BOX ADJUST TO GRADE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Haskell Lemon Group, LLC	First Offer - \$330.00	2 / each	\$660.00		Y			
Product Code:		Supplier Product C	ode:					
Agency Notes:		Supplier Notes:						
Rudy Construction Co.	First Offer - \$350.00	2 / each	\$700.00		Υ			
Product Code:		Supplier Product C	ode:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$500.00	2 / each	\$1,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Ellsworth Construction OKC dba Atech Paving	First Offer - \$600.00	2 / each	\$1,200.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$615.00	2 / each	\$1,230.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:	Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$800.00	2 / each	\$1,600.00		Y			
Product Code:		Supplier Product C	ode:					

Agency Notes: Supplier Notes:

PC-0911, PC-0912 and PC-0913R03-13 BASE BID PC-0913: 713-00 3 INCH GALVANIZED STEEL CONDUIT (INSTALLED									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$63.80	100 / linear foot	\$6,380.00		Υ				
Product Code: Agency Notes:	Supplier Product Cod Supplier Notes:	le:							
Haskell Lemon Group, LLC	First Offer - \$65.00	100 / linear foot	\$6,500.00		Υ				
Product Code: Agency Notes:	Supplier Product Cod Supplier Notes:	le:							
T.J. Campbell Construction Co.	First Offer - \$70.00	100 / linear foot	\$7,000.00		Υ				
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:						
Atlas Paving Company	First Offer - \$75.00	100 / linear foot	\$7,500.00		Υ				
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:						
SCHWARZ PAVING CO., INC.	First Offer - \$86.00	100 / linear foot	\$8,600.00		Υ				
		Supplier Product Cod Supplier Notes:	le:						
Ellsworth Construction OKC dba Atech Paving	First Offer - \$90.90	100 / linear foot	\$9,090.00		Υ				
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:						

PC-0911, PC-0912 and PC-0913R03-14 BASE BID PC-0913	: 713-08 2 INCH TRAFF	IC SIGNAL CONDUIT (TRENCHED)		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company	First Offer - \$25.00	100 / linear foot	\$2,500.00		Υ
Product Code: Agency Notes:	Supplier Product Cod Supplier Notes:	le:			
SCHWARZ PAVING CO., INC.	First Offer - \$29.00	100 / linear foot	\$2,900.00		Υ
Product Code: Agency Notes:	Supplier Product Cod Supplier Notes:	le:			
Rudy Construction Co.	First Offer - \$29.70	100 / linear foot	\$2,970.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$30.00	100 / linear foot	\$3,000.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$30.50	100 / linear foot	\$3,050.00		Υ
Product Code: Agency Notes:	Supplier Product Cod Supplier Notes:	le:			
T.J. Campbell Construction Co.	First Offer - \$32.00	100 / linear foot	\$3,200.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:	·	

PC-0911, PC-0912 and PC-0913R03-15 BASE BID PC-0913: 713-09 2 INCH TRAFFIC SIGNAL CONDUIT (BORED)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Haskell Lemon Group, LLC	First Offer - \$33.00	100 / linear foot	\$3,300.00		Y					
Product Code:	Supplier Product Cod	le:								
Agency Notes:		Supplier Notes:								
Rudy Construction Co.	First Offer - \$33.00	100 / linear foot	\$3,300.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
T.J. Campbell Construction Co.	First Offer - \$36.00	100 / linear foot	\$3,600.00		Υ					
Product Code:		Supplier Product Cod	le:							
Agency Notes:		Supplier Notes:								

Atlas Paving Company		First Offer - \$40.00	100 / linear foot	\$4,000.00		Υ
Product Code:		Supplier Product Code:				
Agency Notes:			Supplier Notes:			
SCHWARZ PAVING CO., INC.	П	First Offer - \$48.00	100 / linear foot	\$4,800.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	П	First Offer - \$48.50	100 / linear foot	\$4,850.00		Υ
Product Code:		Supplier Product Cod	le:			
Agency Notes:		Supplier Notes:				

PC-0911, PC-0912 and PC-0913R03-16 BASE BID PC	C-0913:	713-10 3 INCH TRAFF	IC SIGNAL CONDUIT (1	TRENCHED)		
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company		First Offer - \$30.00	100 / linear foot	\$3,000.00		Y
Product Code:			Supplier Product Cod	e:		
Agency Notes:			Supplier Notes:			
SCHWARZ PAVING CO., INC.		First Offer - \$35.00	100 / linear foot	\$3,500.00		Y
Product Code:			Supplier Product Cod	e:		
Agency Notes:			Supplier Notes:			
Haskell Lemon Group, LLC		First Offer - \$38.50	100 / linear foot	\$3,850.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$38.50	100 / linear foot	\$3,850.00		Y
Product Code:			Supplier Product Cod	e:		
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving		First Offer - \$39.50	100 / linear foot	\$3,950.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$42.00	100 / linear foot	\$4,200.00		Y
Product Code:			Supplier Product Cod	e:		
Agency Notes:			Supplier Notes:			

PC-0911, PC-0912 and PC-0913R03-17 BASE BID PC-0913: 713-11 3 INCH TRAFFIC SIGNAL CONDUIT (BORED)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Haskell Lemon Group, LLC	First Offer - \$44.00	100 / linear foot	\$4,400.00		Υ			
Product Code:	Supplier Product Cod	le:						
Agency Notes:		Supplier Notes:						
Rudy Construction Co.	First Offer - \$44.00	100 / linear foot	\$4,400.00		Υ			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$48.00	100 / linear foot	\$4,800.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$60.00	100 / linear foot	\$6,000.00		Υ			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$69.00	100 / linear foot	\$6,900.00		Υ			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
Ellsworth Construction OKC dba Atech Paving	First Offer - \$75.45	100 / linear foot	\$7,545.00		Υ			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						

PC-0911, PC-0912 and PC-0913R03-18 BASE BID PC-0913: 714-04 5C CONDUCTOR TRAFFIC SIGNAL ELECTRICAL CABLE						
Supplier	Unit Price		Qty/Unit	Total Price	Attch.	Docs
Haskell Lemon Group, LLC		First Offer - \$4.75	100 / linear foot	\$475.00		Υ

Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$4.75	100 / linear foot	\$475.00		Υ
Product Code:			Supplier Product Cod	e:		
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$5.00	100 / linear foot	\$500.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Atlas Paving Company		First Offer - \$7.00	100 / linear foot	\$700.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
SCHWARZ PAVING CO., INC.		First Offer - \$8.00	100 / linear foot	\$800.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving		First Offer - \$11.85	100 / linear foot	\$1,185.00		Υ
Product Code:			Supplier Product Cod	e:		
Agency Notes:			Supplier Notes:			

PC-0911, PC-0912 and PC-0913R03-19 BASE BID PC-0913: 714-05 7C CONDUCTOR TRAFFIC SIGNAL ELECTRICAL CABLE							
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Haskell Lemon Group, LLC		First Offer - \$5.40	100 / linear foot	\$540.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Rudy Construction Co.		First Offer - \$5.40	100 / linear foot	\$540.00		Υ	
roduct Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
T.J. Campbell Construction Co.		First Offer - \$6.00	100 / linear foot	\$600.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Atlas Paving Company		First Offer - \$8.00	100 / linear foot	\$800.00		Υ	
Product Code:			Supplier Product Cod	le:			
Agency Notes:			Supplier Notes:				
SCHWARZ PAVING CO., INC.		First Offer - \$9.00	100 / linear foot	\$900.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving		First Offer - \$13.00	100 / linear foot	\$1,300.00		Υ	
Product Code:			Supplier Product Cod	le:			
Agency Notes:			Supplier Notes:				

PC-0911, PC-0912 and PC-0913R03-20 BASE BID PC-0913: 714-06 10C CONDUCTOR TRAFFIC SIGNAL ELECTRICAL CABLE							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
T.J. Campbell Construction Co.	First Offer - \$7.00	100 / linear foot	\$700.00		Υ		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					
Haskell Lemon Group, LLC	First Offer - \$7.25	100 / linear foot	\$725.00		Υ		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					
Rudy Construction Co.	First Offer - \$7.30	100 / linear foot	\$730.00		Y		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					
Atlas Paving Company	First Offer - \$9.00	100 / linear foot	\$900.00		Y		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$10.00	100 / linear foot	\$1,000.00		Y		
Product Code:		Supplier Product Cod	e:				

Agency Notes: Su		Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$14.25	100 / linear foot	\$1,425.00	Υ		
Product Code:	Supplier Product Code	:				
Agency Notes:		Supplier Notes:				

PC-0911, PC-0912 and PC-0913R03-21 BASE BID PC-09	13:	714-07 15C CONDUC	TOR TRAFFIC SIGNAL	ELECTRICAL CABLE		
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Haskell Lemon Group, LLC		First Offer - \$8.70	100 / linear foot	\$870.00		Υ
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$8.70	100 / linear foot	\$870.00		Υ
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$9.00	100 / linear foot	\$900.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Atlas Paving Company		First Offer - \$10.00	100 / linear foot	\$1,000.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
SCHWARZ PAVING CO., INC.		First Offer - \$12.00	100 / linear foot	\$1,200.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving		First Offer - \$15.50	100 / linear foot	\$1,550.00		Υ
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			

PC-0911, PC-0912 and PC-0913R03-22 BASE BID PC-0913: 714-08 18C CONDUCTOR TRAFFIC SIGNAL ELECTRICAL CABLE						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Haskell Lemon Group, LLC	First Offer - \$10.60	100 / linear foot	\$1,060.00		Υ	
Product Code:		Supplier Product Cod	e:			
Agency Notes:		Supplier Notes:				
Rudy Construction Co.	First Offer - \$10.60	100 / linear foot	\$1,060.00		Υ	
Product Code:		Supplier Product Cod	e:			
Agency Notes:		Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$11.00	100 / linear foot	\$1,100.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Atlas Paving Company	First Offer - \$11.00	100 / linear foot	\$1,100.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$13.00	100 / linear foot	\$1,300.00		Υ	
Product Code:		Supplier Product Code:				
		Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$16.65	100 / linear foot	\$1,665.00		Υ	
		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

PC-0911, PC-0912 and PC-0913R03-23 BASE BID PC-0913: 714-09 21C CONDUCTOR TRAFFIC SIGNAL ELECTRICAL CABLE									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Haskell Lemon Group, LLC	T	First Offer - \$10.90	100 / linear foot	\$1,090.00		Y			
Product Code:		Supplier Product Code:							
Agency Notes:			Supplier Notes:						
Rudy Construction Co.		First Offer - \$10.90	100 / linear foot	\$1,090.00		Y			
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

T.J. Campbell Construction Co.	First Offer - \$	511.00	100 / linear foot	\$1,100.00	Υ	
Product Code:		Supplier Product Code:				
Agency Notes:			Supplier Notes:			
Atlas Paving Company	First Offer - \$	512.00	100 / linear foot	\$1,200.00	Y	
Product Code:		Supplier Product Code:				
Agency Notes:			Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$	514.00	100 / linear foot	\$1,400.00	Υ	
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$	17.85	100 / linear foot	\$1,785.00	Y	
Product Code:		Supplier Product Code:				
		Supplier Notes:				

PC-0911, PC-0912 and PC-0913R03-24 BASE BID PC	-0913: 714-10 (1 CONDUC	TOR)(AWG NO. 6) ELECTF	RICAL CONDUCTO	R	
Supplier	Unit Pric	e Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.	First Offer - \$5.00	100 / linear foot	\$500.00		Υ
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	:			
Atlas Paving Company	First Offer - \$5.00	100 / linear foot	\$500.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Haskell Lemon Group, LLC	First Offer - \$5.15	100 / linear foot	\$515.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$5.20	100 / linear foot	\$520.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
SCHWARZ PAVING CO., INC.	First Offer - \$6.00	100 / linear foot	\$600.00		Υ
		Supplier Product Code Supplier Notes:	::		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$9.50	100 / linear foot	\$950.00		Υ
		Supplier Product Code: Supplier Notes:			

PC-0911, PC-0912 and PC-0913R03-25 BASE BID PC-0913: 714-11 (1 CONDUCTOR)(AWG NO. 10) ELECTRICAL CONDUCTOR							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company	First Offer - \$3.00	100 / linear foot	\$300.00		Υ		
		Supplier Product Code Supplier Notes:	e:				
T.J. Campbell Construction Co.	First Offer - \$3.75	100 / linear foot	\$375.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Haskell Lemon Group, LLC	First Offer - \$3.95	100 / linear foot	\$395.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Rudy Construction Co.	First Offer - \$4.00	100 / linear foot	\$400.00		Υ		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:				
SCHWARZ PAVING CO., INC.	First Offer - \$4.00	100 / linear foot	\$400.00		Υ		
		Supplier Product Code Supplier Notes:	e:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$7.05	100 / linear foot	\$705.00		Υ		
		Supplier Product Code Supplier Notes:	e:				

PC-0911, PC-0912 and PC-0913R03-26 BASE BID PC-0913: 717-03 PEDESTRIAN SIGNAL HEAD (1 WAY 2 SEC.ADJ SIG. HD. (S-20)							
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company		First Offer - \$815.00	13 / each	\$10,595.00		Y	
Product Code:			Supplier Product C	ode:			
Agency Notes:			Supplier Notes:				
SCHWARZ PAVING CO., INC.		First Offer - \$950.00	13 / each	\$12,350.00		Y	
Product Code:			Supplier Product C	ode:			
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving		First Offer - \$1,005.00	13 / each	\$13,065.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Haskell Lemon Group, LLC		First Offer - \$1,085.00	13 / each	\$14,105.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Rudy Construction Co.		First Offer - \$1,085.00	13 / each	\$14,105.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
T.J. Campbell Construction Co.		First Offer - \$1,200.00	13 / each	\$15,600.00		Υ	
Product Code:			Supplier Product C	ode:			
Agency Notes:			Supplier Notes:				

PC-0911, PC-0912 and PC-0913R03-27 BASE BID PC-0913: 722-00 PEDESTRIAN PUSH BUTTON AND SIGN									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$1,110.00	11 / each	\$12,210.00		Υ				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Haskell Lemon Group, LLC	First Offer - \$1,150.00	11 / each	\$12,650.00		Y				
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:						
T.J. Campbell Construction Co.	First Offer - \$1,200.00	11 / each	\$13,200.00		Υ				
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:						
Atlas Paving Company	First Offer - \$1,310.00	11 / each	\$14,410.00		Υ				
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:						
SCHWARZ PAVING CO., INC.	First Offer - \$1,500.00	11 / each	\$16,500.00		Υ				
		Supplier Product (Supplier Notes:	Code:						
Ellsworth Construction OKC dba Atech Paving	First Offer - \$1,605.00	11 / each	\$17,655.00		Υ				
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:						

PC-0911, PC-0912 and PC-0913R03-28 BASE BID PC-0913: 722-03 PEDESTRIAN PUSH BUTTON- CENTRAL CONTROL UNIT								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company	First Offer - \$4,950.00	2 / each	\$9,900.00		Υ			
Product Code:		Supplier Product 0	Code:					
Agency Notes:		Supplier Notes:						
Rudy Construction Co.	First Offer - \$5,215.00	2 / each	\$10,430.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Haskell Lemon Group, LLC	First Offer - \$5,250.00	2 / each	\$10,500.00		Υ			
Product Code:		Supplier Product 0	Code:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$5,700.00	2 / each	\$11,400.00		Υ			
Product Code:		Supplier Product (Code:					

Agency Notes:		Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$6,000.00	2 / each	\$12,000.00	Υ		
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$6,115.00	2 / each	\$12,230.00	Υ		
Product Code:		Supplier Product Code:				
Agency Notes:	Supplier Notes:					

PC-0911, PC-0912 and PC-0913R03-29 BASE BID PC	:-0913:	724-67 PEDESTAL POLE	W/5 FOOT MOUNT	ING HEIGHT		
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company		First Offer - \$1,500.00	1 / each	\$1,500.00		Υ
			Supplier Product (Supplier Notes:	Code:		
Haskell Lemon Group, LLC		First Offer - \$1,500.00	1 / each	\$1,500.00		Υ
			Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co.		First Offer - \$1,500.00	1 / each	\$1,500.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$1,600.00	1 / each	\$1,600.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.		First Offer - \$2,000.00	1 / each	\$2,000.00		Υ
			Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba Atech Paving		First Offer - \$2,145.00	1 / each	\$2,145.00		Υ
		Supplier Product (Supplier Notes:	Code:			

PC-0911, PC-0912 and PC-0913R-03-30 BASE BID PC-0913: 724-68 PEDESTAL POLE W/10 FOOT MOUNTING HEIGHT							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company	First Offer - \$1,800.00	10 / each	\$18,000.00		Υ		
Product Code:		Supplier Product C	ode:				
Agency Notes:		Supplier Notes:					
Rudy Construction Co.	First Offer - \$1,800.00	10 / each	\$18,000.00		Y		
Product Code:		Supplier Product C	Code:				
Agency Notes:		Supplier Notes:					
Haskell Lemon Group, LLC	First Offer - \$1,805.00	10 / each	\$18,050.00		Y		
Product Code:		Supplier Product C	ode:				
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$2,000.00	10 / each	\$20,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$2,000.00	10 / each	\$20,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Ellsworth Construction OKC dba Atech Paving	First Offer - \$2,195.00	10 / each	\$21,950.00		Y		
Product Code:		Supplier Product C	Code:				
Agency Notes:		Supplier Notes:					

PC-0911, PC-0912 and PC-0913R03-31 BASE BID PC-0913: 726-00 PULL BOX TYPE I							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company	First Offer - \$1,215.00	2 / each	\$2,430.00		Υ		
Product Code:		Supplier Product Code:					
		Supplier Notes:					

SCHWARZ PAVING CO., INC.	First Offer - \$1,500.00	2 / each	\$3,000.00	Υ	
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$1,630.00	2 / each	\$3,260.00	Y	
Product Code:	Supplier Product C	Code:			
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$2,600.00	2 / each	\$5,200.00	Υ	
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$2,600.00	2 / each	\$5,200.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$2,850.00	2 / each	\$5,700.00	Υ	
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			

PC-0911, PC-0912 and PC-0913R03-32 BASE BID PC-0913	: 726-01 PULL BOX TYPE	II			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company	First Offer - \$1,500.00	2 / each	\$3,000.00		Y
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:			
SCHWARZ PAVING CO., INC.	First Offer - \$1,700.00	2 / each	\$3,400.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$1,975.00	2 / each	\$3,950.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$2,740.00	2 / each	\$5,480.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$2,750.00	2 / each	\$5,500.00		Υ
		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$3,000.00	2 / each	\$6,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	·	

PC-0911, PC-0912 and PC-0913R03-33 BASE BID PC-0	913:	726-04 PULL BOX ADJUS	STMENT			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Haskell Lemon Group, LLC		First Offer - \$1,050.00	2 / each	\$2,100.00		Υ
			Supplier Product C Supplier Notes:	Code:		
Rudy Construction Co.	П	First Offer - \$1,050.00	2 / each	\$2,100.00		Υ
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		
T.J. Campbell Construction Co.		First Offer - \$1,200.00	2 / each	\$2,400.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Atlas Paving Company	П	First Offer - \$1,750.00	2 / each	\$3,500.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.		First Offer - \$2,000.00	2 / each	\$4,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	П	First Offer - \$2,275.00	2 / each	\$4,550.00		Υ

Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:

PC-0911, PC-0912 and PC-0913R03-34 BASE BID PC-09	13: 729-09 INSTALL AND RI	EMOVE PROJECT SIG	iN		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company	First Offer - \$650.00	2 / each	\$1,300.00		Υ
Product Code: Agency Notes:	Supplier Product C Supplier Notes:	ode:			
Rudy Construction Co.	First Offer - \$715.00	2 / each	\$1,430.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$775.00	2 / each	\$1,550.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$1,000.00	2 / each	\$2,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$1,500.00	2 / each	\$3,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$1,800.00	2 / each	\$3,600.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

PC-0911, PC-0912 and PC-0913R03-35 BASE BID PC-0913: 729-10 REMOVE AND RELOCATE SIGN							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company	First Offer - \$150.00	1 / each	\$150.00		Υ		
Product Code:		Supplier Product C	Code:				
Agency Notes:		Supplier Notes:					
Rudy Construction Co.	First Offer - \$165.00	1 / each	\$165.00		Y		
Product Code:	Supplier Product C	Code:					
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$250.00	1 / each	\$250.00		Υ		
Product Code:		Supplier Product C	Code:				
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$725.00	1 / each	\$725.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Haskell Lemon Group, LLC	First Offer - \$950.00	1 / each	\$950.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Ellsworth Construction OKC dba Atech Paving	First Offer - \$1,250.00	1 / each	\$1,250.00		Υ		
Product Code:		Supplier Product C	Code:				
Agency Notes:		Supplier Notes:					

PC-0911, PC-0912 and PC-0913R03-36 BASE BID PC-0913: 735-00 TRAFFIC STRIPE (4 INCH WIDE)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company	First Offer - \$0.95	14000 / linear foot	\$13,300.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$1.00	14000 / linear foot	\$14,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Rudy Construction Co.	First Offer - \$1.05	14000 / linear foot	\$14,700.00		Υ		
Product Code:		Supplier Product Code:					

Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$1.10	14000 / linear foot	\$15,400.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$1.25	14000 / linear foot	\$17,500.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$1.50	14000 / linear foot	\$21,000.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

PC-0911, PC-0912 and PC-0913R-03-37 BASE BID PC-0913: 735-01 TRAFFIC STRIPE (ARROWS) (SINGLE)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company	First Offer - \$125.00	20 / each	\$2,500.00		Υ		
Product Code:		Supplier Product C	ode:				
Agency Notes:		Supplier Notes:					
Rudy Construction Co.	First Offer - \$137.50	20 / each	\$2,750.00		Y		
Product Code:	Supplier Product C	ode:					
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$140.00	20 / each	\$2,800.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Ellsworth Construction OKC dba Atech Paving	First Offer - \$257.25	20 / each	\$5,145.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$550.00	20 / each	\$11,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Haskell Lemon Group, LLC	First Offer - \$703.50	20 / each	\$14,070.00		Y		
Product Code:		Supplier Product C	ode:				
Agency Notes:		Supplier Notes:					

PC-0911, PC-0912 and PC-0913R03-38 BASE BID PC-0913	3: 735-07 TRAFFIC STR	IPE (8 INCH WIDE)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company	First Offer - \$2.00	2000 / linear foot	\$4,000.00		Υ
		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$2.00	2000 / linear foot	\$4,000.00		Υ
		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$2.20	2000 / linear foot	\$4,400.00		Υ
		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$2.60	2000 / linear foot	\$5,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$4.00	2000 / linear foot	\$8,000.00		Υ
		Supplier Product Code: Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$5.10	2000 / linear foot	\$10,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		·	

PC-0911, PC-0912 and PC-0913R03-39 BASE BID PC-09	13: 735-09 TRAFFIC STRI	PE (24 INCH WIDE)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs

Ellsworth Construction OKC dba Atech Paving	First Offer - \$6.30	1150 / linear foot	\$7,245.00	Y	
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$10.00	1150 / linear foot	\$11,500.00	Y	
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			
Atlas Paving Company	First Offer - \$10.00	1150 / linear foot	\$11,500.00	Υ	
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$11.00	1150 / linear foot	\$12,650.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$12.00	1150 / linear foot	\$13,800.00	Υ	
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$13.30	1150 / linear foot	\$15,295.00	Y	
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			

PC-0911, PC-0912 and PC-0913R03-40 BASE BID PC-0913: 738-08 REMOVE TRAFFIC MARKING (4 INCH WIDE STRIPE)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company	First Offer - \$0.25	200 / linear foot	\$50.00		Υ		
Product Code:		Supplier Product Code	e:				
Agency Notes:		Supplier Notes:					
Rudy Construction Co.	First Offer - \$0.30	200 / linear foot	\$60.00		Y		
Product Code:		Supplier Product Code	e:				
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$2.00	200 / linear foot	\$400.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$3.75	200 / linear foot	\$750.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Ellsworth Construction OKC dba Atech Paving	First Offer - \$4.15	200 / linear foot	\$830.00		Υ		
Product Code:		Supplier Product Code	e:				
Agency Notes:		Supplier Notes:					
Haskell Lemon Group, LLC	First Offer - \$4.85	200 / linear foot	\$970.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

PC-0911, PC-0912 and PC-0913R03-41 BASE BID PC-0913: 738-08 REMOVE TRAFFIC MARKING (24 INCH WIDE STRIPE)						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company		First Offer - \$0.50	200 / linear foot	\$100.00		Υ
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	le:		
Rudy Construction Co.		First Offer - \$0.55	200 / linear foot	\$110.00		Y
			Supplier Product Cod Supplier Notes:	le:		
SCHWARZ PAVING CO., INC.		First Offer - \$4.00	200 / linear foot	\$800.00		Y
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	le:		
Ellsworth Construction OKC dba Atech Paving		First Offer - \$5.35	200 / linear foot	\$1,070.00		Y
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	le:		
T.J. Campbell Construction Co.		First Offer - \$15.00	200 / linear foot	\$3,000.00		Υ

Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Haskell Lemon Group, LLC	Fir	rst Offer - \$19.50	200 / linear foot	\$3,900.00		Υ
Product Code:		Supplier Product Code:				
Agency Notes:			Supplier Notes:			

PC-0911, PC-0912 and PC-0913R03-42 BASE BID PC-0913: 738-08 REMOVE TRAFFIC MARKING (ARROWS)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company	First Offer - \$25.00	5 / each	\$125.00		Υ		
Product Code:	Supplier Product C	ode:					
Agency Notes:		Supplier Notes:					
Rudy Construction Co.	First Offer - \$27.50	5 / each	\$137.50		Υ		
Product Code:		Supplier Product C	ode:				
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$50.00	5 / each	\$250.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$90.00	5 / each	\$450.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Haskell Lemon Group, LLC	First Offer - \$125.00	5 / each	\$625.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Ellsworth Construction OKC dba Atech Paving	First Offer - \$188.50	5 / each	\$942.50		Υ		
Product Code:		Supplier Product C	Code:				
Agency Notes:		Supplier Notes:					

PC-0911, PC-0912 and PC-0913R03-43 BASE BID PC-091	3: 745-01 RADAR DETECTIO	ON SYSTEM (ADVAN	ICE SENSORS)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company	First Offer - \$8,245.00	6 / each	\$49,470.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$9,500.00	6 / each	\$57,000.00		Υ	
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$9,955.00	6 / each	\$59,730.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Haskell Lemon Group, LLC	First Offer - \$10,260.00	6 / each	\$61,560.00		Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Rudy Construction Co.	First Offer - \$10,270.00	6 / each	\$61,620.00		Υ	
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:				
T.J. Campbell Construction Co.	First Offer - \$11,000.00	6 / each	\$66,000.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			

PC-0911, PC-0912 and PC-0913R03-44 BASE BID PC-0913: 745-02 RADAR DETECTION SYSTEM (PRESENCE SENSORS)									
Supplier	Unit Price Qty/Unit Total Price Attch. D								
Atlas Paving Company	First Offer - \$8,200.00	7 / each	\$57,400.00		Υ				
Product Code:		Supplier Product (Code:						
Agency Notes:		Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$9,500.00	7 / each	\$66,500.00		Υ				
Product Code:		Supplier Product (Code:						

Agency Notes:	Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$9,890.00	7 / each	\$69,230.00	Y
Product Code:	Supplier Product (Code:		
Agency Notes:		Supplier Notes:		
Haskell Lemon Group, LLC	First Offer - \$10,550.00	7 / each	\$73,850.00	Y
Product Code:		Supplier Product (Code:	
Agency Notes:		Supplier Notes:		
Rudy Construction Co.	First Offer - \$10,550.00	7 / each	\$73,850.00	Υ
Product Code:		Supplier Product (Code:	
Agency Notes:		Supplier Notes:		
T.J. Campbell Construction Co.	First Offer - \$11,500.00	7 / each	\$80,500.00	Y
Product Code:		Supplier Product (Code:	
Agency Notes:		Supplier Notes:		

PC-0911, PC-0912 and PC-0913R03-45 BASE BID PC-091	3: 745-04 RADAR CABINET	INTERFACE (CLICK	656 OR NEWEST MO	DDEL)	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company	First Offer - \$7,500.00	3 / each	\$22,500.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.	First Offer - \$8,600.00	3 / each	\$25,800.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$9,115.00	3 / each	\$27,345.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Haskell Lemon Group, LLC	First Offer - \$10,370.00	3 / each	\$31,110.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co.	First Offer - \$10,380.00	3 / each	\$31,140.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$11,500.00	3 / each	\$34,500.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PC-0911, PC-0912 and PC-0913R03-46 BASE BID PC-0913	3: 745-05 RADAR DETE	CTOR CABLE					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Haskell Lemon Group, LLC	First Offer - \$3.00	3000 / linear foot	\$9,000.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Rudy Construction Co.	First Offer - \$3.00	3000 / linear foot	\$9,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$3.25	3000 / linear foot	\$9,750.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Atlas Paving Company	First Offer - \$5.00	3000 / linear foot	\$15,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$6.00	3000 / linear foot	\$18,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Ellsworth Construction OKC dba Atech Paving	First Offer - \$6.15	3000 / linear foot	\$18,450.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

PC-0911, PC-0912 and PC-0913R03-47 BASE BID PC-0913: 745-06 SWITCH FOR EXISTING TRAFFIC CONTROL CABINET							
Supplier	Uni	it Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company	First Offer - \$1,9	995.00	2 / each	\$3,990.00		Υ	
			Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$2,4	400.00	2 / each	\$4,800.00		Υ	
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:			
Haskell Lemon Group, LLC	First Offer - \$2,4	450.00	2 / each	\$4,900.00		Υ	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$2,4	475.00	2 / each	\$4,950.00		Υ	
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:			
SCHWARZ PAVING CO., INC.	First Offer - \$2,5	500.00	2 / each	\$5,000.00		Υ	
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$2,5	565.00	2 / each	\$5,130.00		Υ	
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:			

PC-0911, PC-0912 and PC-0913R03-48 BASE BID PC-091	3: 809-00 MOBILIZATION				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ellsworth Construction OKC dba Atech Paving	First Offer - \$46,340.00	1 / lump sum	\$46,340.00		Υ
Product Code:		Supplier Product 0	Code:		
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$47,150.00	1 / lump sum	\$47,150.00		Y
Product Code:		Supplier Product 0	Code:		
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$50,000.00	1 / lump sum	\$50,000.00		Y
Product Code:		Supplier Product 0	Code:		
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$55,000.00	1 / lump sum	\$55,000.00		Y
Product Code:		Supplier Product 0	Code:		
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$56,000.00	1 / lump sum	\$56,000.00		Y
Product Code:		Supplier Product 0	Code:		
Agency Notes:		Supplier Notes:			
Atlas Paving Company	First Offer - \$64,000.00	1 / lump sum	\$64,000.00		Y
Product Code:		Supplier Product 0	Code:		
Agency Notes:		Supplier Notes:			

PC-0911, PC-0912 and PC-0913R03-49 BASE BID PC-0913: 812-01 REMOVE SIDEWALK							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$10.00	156 / square yard	\$1,560.00		Y		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:				
Haskell Lemon Group, LLC	First Offer - \$11.00	156 / square yard	\$1,716.00		Y		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$15.00	156 / square yard	\$2,340.00		Υ		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:				
Atlas Paving Company	First Offer - \$20.00	156 / square yard	\$3,120.00		Y		

Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
SCHWARZ PAVING CO., INC.	First Offer - \$20.00	156 / square yard	\$3,120.00	Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
T.J. Campbell Construction Co.	First Offer - \$27.00	156 / square yard	\$4,212.00	Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	

PC-0911, PC-0912 and PC-0913R03-50 BASE BID PC-0913	3: 812-02 REMOVE CUR	B AND GUTTER			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$10.00	300 / linear foot	\$3,000.00		Υ
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$11.00	300 / linear foot	\$3,300.00		Y
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$13.00	300 / linear foot	\$3,900.00		Y
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
Atlas Paving Company	First Offer - \$15.00	300 / linear foot	\$4,500.00		Y
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$20.00	300 / linear foot	\$6,000.00		Y
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$30.00	300 / linear foot	\$9,000.00		Y
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			

PC-0911, PC-0912 and PC-0913R03-51 BASE BID PC-09	13: 818-05 PAVEMENT R	EPAIR (9 INCHES)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$85.00	200 / square yard	\$17,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$115.00	200 / square yard	\$23,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Atlas Paving Company	First Offer - \$125.00	200 / square yard	\$25,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
SCHWARZ PAVING CO., INC.	First Offer - \$130.00	200 / square yard	\$26,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
T.J. Campbell Construction Co.	First Offer - \$150.00	200 / square yard	\$30,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Haskell Lemon Group, LLC	First Offer - \$324.50	200 / square yard	\$64,900.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		

PC-0911, PC-0912 and PC-0913R03-52 BASE BID PC-0913: 819-20 STORM SEWER CAST GRATE REPLACEMENT						
Supplier	Unit Price Qty/Unit Total Price Attch. Do					
Haskell Lemon Group, LLC	First Offer - \$330.00	4 / each	\$1,320.00		Y	
Product Code:		Supplier Product C	ode:			

Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$500.00	4 / each	\$2,000.00	Υ	
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$550.00	4 / each	\$2,200.00	Υ	
Product Code:	Supplier Product C	Code:			
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$600.00	4 / each	\$2,400.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$625.00	4 / each	\$2,500.00	Υ	
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Atlas Paving Company	First Offer - \$750.00	4 / each	\$3,000.00	Υ	
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			

PC-0911, PC-0912 and PC-0913R03-53 BASE BID PC-091	13: 823-00 SIDEWALK (4 I	NCH)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Haskell Lemon Group, LLC	First Offer - \$68.20	45 / square yard	\$3,069.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
T.J. Campbell Construction Co.	First Offer - \$72.00	45 / square yard	\$3,240.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Atlas Paving Company	First Offer - \$75.00	45 / square yard	\$3,375.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
SCHWARZ PAVING CO., INC.	First Offer - \$80.00	45 / square yard	\$3,600.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Rudy Construction Co.	First Offer - \$100.00	45 / square yard	\$4,500.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$130.00	45 / square yard	\$5,850.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		

PC-0911, PC-0912 and PC-0913R03-54 BASE BID PC-09	13: 823-15 SIDEWALK (8	INCHES)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company	First Offer - \$75.00	202 / square yard	\$15,150.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Haskell Lemon Group, LLC	First Offer - \$79.20	202 / square yard	\$15,998.40		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
T.J. Campbell Construction Co.	First Offer - \$91.00	202 / square yard	\$18,382.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
SCHWARZ PAVING CO., INC.	First Offer - \$120.00	202 / square yard	\$24,240.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Rudy Construction Co.	First Offer - \$135.00	202 / square yard	\$27,270.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		

Ellsworth Construction OKC dba Atech Paving	First Offer - \$150.00	202 / square yard	\$30,300.00	Υ
Product Code:		Supplier Product Code	e:	
Agency Notes:		Supplier Notes:		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.	First Offer - \$31.00	144 / square foot	\$4,464.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Haskell Lemon Group, LLC	First Offer - \$33.00	144 / square foot	\$4,752.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Atlas Paving Company	First Offer - \$35.00	144 / square foot	\$5,040.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Rudy Construction Co.	First Offer - \$35.00	144 / square foot	\$5,040.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$40.00	144 / square foot	\$5,760.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
SCHWARZ PAVING CO., INC.	First Offer - \$45.00	144 / square foot	\$6,480.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		

PC-0911, PC-0912 and PC-0913R03-56 BASE BID PC-09	13: 830-09 ADA CURB RA	MP (8 INCHES)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Haskell Lemon Group, LLC	First Offer - \$134.00	80 / square yard	\$10,720.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$140.00	80 / square yard	\$11,200.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Atlas Paving Company	First Offer - \$150.00	80 / square yard	\$12,000.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Rudy Construction Co.	First Offer - \$170.00	80 / square yard	\$13,600.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
T.J. Campbell Construction Co.	First Offer - \$230.00	80 / square yard	\$18,400.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
SCHWARZ PAVING CO., INC.	First Offer - \$250.00	80 / square yard	\$20,000.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		

PC-0911, PC-0912 and PC-0913R03-57 BASE BID PC-091	3: 840-00 SOLID SLAB	SODDING			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.	First Offer - \$4.25	600 / square yard	\$2,550.00		Υ
Product Code:		Supplier Product Code			
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$6.00	600 / square yard	\$3,600.00		Υ
Product Code:		Supplier Product Code	•		
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$6.50	600 / square yard	\$3,900.00		Υ

Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Atlas Paving Company	First Offer - \$8.00	600 / square yard	\$4,800.00	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC.	First Offer - \$8.00	600 / square yard	\$4,800.00	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Haskell Lemon Group, LLC	First Offer - \$8.25	600 / square yard	\$4,950.00	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

PC-0911, PC-0912 and PC-0913R03-58 BASE BID PC-091	3: 829-02 FIXED BOLLARD	/TRAIL MARKER			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Haskell Lemon Group, LLC	First Offer - \$825.00	6 / each	\$4,950.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Rudy Construction Co.	First Offer - \$850.00	6 / each	\$5,100.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$900.00	6 / each	\$5,400.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Atlas Paving Company	First Offer - \$1,200.00	6 / each	\$7,200.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.	First Offer - \$1,600.00	6 / each	\$9,600.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$2,000.00	6 / each	\$12,000.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		

PC-0911, PC-0912 and PC-0913R04-01 Alternate No. 1	PC-0911 PC-0912 PC-	0913: 988-05 COMPOSITE F	PAVING GRID TYPE	II	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company	First Offer - \$5.50	58361 / square yard	\$320,985.50		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$6.00	58361 / square yard	\$350,166.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$6.15	58361 / square yard	\$358,920.15		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$6.25	58361 / square yard	\$364,756.25		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$7.15	58361 / square yard	\$417,281.15		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$7.25	58361 / square yard	\$423,117.25		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PC-0911, PC-0912 and PC-0913R--05-01 Alternate No. 2 PC-0911 PC-0912 PC-0913: 505-00 MULTIPLE LAYER POLYMER CONCRETE OVERLAY

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
SCHWARZ PAVING CO., INC.	First Offer - \$62.00	1800 / square yard	\$111,600.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Atlas Paving Company	First Offer - \$65.00	1800 / square yard	\$117,000.00	Υ	Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$65.00	1800 / square yard	\$117,000.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$74.65	1800 / square yard	\$134,370.00	Υ	Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$77.00	1800 / square yard	\$138,600.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$110.00	1800 / square yard	\$198,000.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

f Rudy Constr	ruction Co.	\$4,320,595.15 (186/186 iter	ns)
Bid Contact	Doug Walker kratliff@rudyconstruction.com Ph 405-478-9900 Fax 405-478-9901	Address 3101 NE 63rd Street Oklahoma City, OK 731	21
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Bid Bond	(Status: This bid bond could not be verified)		
Agency Notes:		Supplier Notes:	Head Attch
f Ellsworth Co	nstruction OKC dba Atech Paving	\$4,372,379.35 (186/186 item	ıs)
Bid Contact	Timothy Lunday tlunday@ellsworthinc.com Ph 405-418-4741	Address P.O. Box 10765 Midwest City, OK 73140	•
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Bid Notes	Bid Bond uploaded to last bid item		
Agency Notes:		Supplier Notes: Bid Bond uploaded to last bid item	Head Attch:
		bla boria apioadea to last bla iterri	Ú
f Atlas Paving	; Company	\$4,471,571.11 (186/186 iter	
f Atlas Paving Bid Contact	Company Carol McCoin jeffsmith@atlaspavingok.com Ph 405-947-2381 Fax 405-947-3670		ns)
Bid Contact	Carol McCoin jeffsmith@atlaspavingok.com Ph 405-947-2381	\$4,471,571.11 (186/186 iter Address 3800 NW 8th Street	ns)
Bid Contact	Carol McCoin jeffsmith@atlaspavingok.com Ph 405-947-2381 Fax 405-947-3670	\$4,471,571.11 (186/186 iter Address 3800 NW 8th Street	ns)
Bid Contact Qualifications	Carol McCoin jeffsmith@atlaspavingok.com Ph 405-947-2381 Fax 405-947-3670 OKC PRE-QUALIFIED CONTRACTORS	\$4,471,571.11 (186/186 iter Address 3800 NW 8th Street	ns)
Qualifications Bid Bond	Carol McCoin jeffsmith@atlaspavingok.com Ph 405-947-2381 Fax 405-947-3670 OKC PRE-QUALIFIED CONTRACTORS (Status: This bid bond could not be verified) Bid Bond attached to item 05-01	\$4,471,571.11 Address 3800 NW 8	(186/186 iten 3th Street

Bid Contact **BRIAN SCHWARZ** Address 8251 WEST RENO AVE RICHARD.SCHWARZ@SCHWARZPAVING.COM OKLAHOMA CITY, OK Ph 405-789-7203 73127 Qualifications OKC PRE-QUALIFIED CONTRACTORS **Bid Notes** Bid bond attached to first item. Head **Agency Notes: Supplier Notes:** Bid bond attached to first item. Attch: f Haskell Lemon Group, LLC \$4,682,047.10 (186/186 items) **Bid Contact** Address PO Box 75608 **Tammy Robinson** bids@haskelllemon.com Oklahoma City, OK 73147 Ph 405-947-6069 Qualifications **OKC PRE-QUALIFIED CONTRACTORS Head Attch: Supplier Notes: Agency Notes:** f T.J. Campbell Construction Co. \$5,455,343.85 (186/186 items) **Bid Contact Donnie Dorn** Address PO Box 3788 TJCESTIMATING@TJCAMPBELL.COM **Edmond, OK 73083** Ph 405-672-6768 Fax 405-513-6786 Qualifications OKC PRE-QUALIFIED CONTRACTORS Bid Bond (Status: This bid bond could not be verified) **Agency Notes: Supplier Notes: Head Attch:** 궶

^{**}All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.